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Question Id : 87827026939 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the percentage of boys and difference between the number of boys and
the number of girls among the students of six different schools A - F, who appeared in Board
Examination during four different years from 2019 to 2022, Based on the data in the table, answer
the questions that follow.

School Wise Details of Number of Students :

Year 2019 2020 2021 2022

Boys | Difference |Boys|Difference|Boys|Difference|Boys|Difference
School \| () O (] O Je O [ 6
A 70 136 60 70 75 134 60 86
40 84 48 18 45 48 60 9%
44 60 55 24 60 52 56 24

B
&
D 44 84 57 84 55 72 65 192
E
F

75 280 60 136 70 264 b6 24
44 90 56 96 65 228 45 84

Where Ditference (*) means difference between number of boys and number of girls

Sub questions



Question Number : 1 Question Id : 87827026940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Considering all the four years together, What is the average number of boys who appeared from

school B ?

(1) 424
(2) 434
(3) 438
(4) 454
Options :
878270106241. 1
878270106242. 2
878270106243. 3

878270106244. 4

Question Number : 2 Question Id : 87827026941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the total number of girls who appeared in the examination from all the six schools in
2020 ?

(1) 1364

(2) 1386

(3) 1404
4) 1414
Options :
878270106245. 1
878270106246. 2
878270106247.3

878270106248. 4



Question Number : 3 Question Id : 87827026942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What 1s the ditference between the total numbers of students appearing from school B in 2020 and
that in 2022 ?

(L) 0

(&) 1
@ 29
(4) 35
Options :
878270106249. 1
878270106250. 2
878270106251. 3

878270106252. 4

Question Number : 4 Question Id : 87827026943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of boys who appeared from School Cin 2019 to the number of girls
who appeared from school E in 2021 ?

(1) 5:4

2) 8:7

@) 9:8

4) 10:9
Options :
878270106253. 1
878270106254. 2
878270106255. 3

878270106256. 4

Question Number : 5 Question Id : 87827026944 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

In the year 2019, number of students appearing from School Fis ___ % more than the
number of students appearing from School C:

(1) 40

(2) 66.66

3) 20

(4) 30
Options :

878270106257. 1
878270106258. 2
878270106259. 3

878270106260. 4

Question Id : 87827026939 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 87827026940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Toft R 9] &1 T Y ook e E 9 e e S # aied 9e fadd g 2
(1) 424

(2) 434
(3) 438
(4) 454
Options :
878270106241, 1
878270106242. 2
878270106243. 3

878270106244. 4

Question Number : 2 Question Id : 87827026941 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

79 2020 § 9t B faaerdl & vdien <7 gl sfersel ®t S g et €2

(1) 1364
(2) 1386
(3) 1404
(4) 1414
Options :

878270106245. 1
878270106246. 2
878270106247. 3
878270106248. 4

Question Number : 3 Question Id : 87827026942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

foremer B & & 2020 ¥ 3 2022 ey <3 9 feranfe %1 et G o S S fope 7 7

(1) 0
@ 1
3 29
4) 35
Options:

878270106249. 1
878270106250. 2
878270106251. 3

878270106252. 4

Question Number : 4 Question Id : 87827026943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270106253. 1
878270106254. 2
878270106255. 3

878270106256. 4

Question Number : 5 Question Id : 87827026944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

4 2019 ¥, foerert F 3 wliey < ol ool =nt e foraer C 8 wlen < ol fernfel o wen ¥

ferem ftra anfi &7

(1) 40
) 66.66
) 20
) 50
Options :
878270106257. 1
878270106258. 2
878270106259. 3

878270106260. 4
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Question Number : 6 Question Id : 87827026945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which ICT tool allows users to organize and curate content from various sources, such as websites,
articles and videos ?

(1) Edpuzzle

(2) Wakelet

(3) Pixton

(4)  Screen-casto-matic
Options :
878270106261. 1
878270106262. 2
878270106263. 3

878270106264. 4

Question Number : 6 Question Id : 87827026945 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1) Tgqwd

ARRCETE
3)  fueed
4)

(
(
(
(4) TR FRI-HEE
Options :
878270106261. 1
878270106262. 2

878270106263. 3

878270106264. 4



Question Number : 7 Question Id : 87827026946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The process of comparing a student’s performance against his/her previous
performance is called as ipsative assessment.

Statement 11:  Authentic assessments are assessment procedures that test skills and abilities as
they would be applied in real life situations.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
Options:

878270106265. 1
878270106266. 2
878270106267. 3

878270106268. 4

Question Number : 7 Question Id : 87827026946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270106265. 1
878270106266. 2
878270106267. 3
878270106268. 4

Question Number : 8 Question Id : 87827026947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the types/sub-types of long term memory ?
(A) Declarative memory

(B) Procedural memory

(C) Episodic memory

(D) Semantic memory

Choose the correct answer from the options given below :

(1) (A), (C) and (D) Only

(2) (B) and (C) Only

(3) (A) and (D) Only

) (A), (B), (O and (D)

Options :
878270106269. 1
878270106270. 2



878270106271. 3

878270106272. 4

Question Number : 8 Question Id : 87827026947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fr= & § F9-3F <eefas @fa & gersy TR 22
(A) EroTeRs S
(B) hrfafier wfd
(C) wHITH®
(D) emeft wfd
(1) = (A), (©) 3R (D)
(2) < (B) ¥R (C)
(3) A (A) R (D)
4) (4), (B), (C) 3 (D)
Options :
878270106269. 1
878270106270. 2
878270106271. 3

878270106272. 4

Question Number : 9 Question Id : 87827026948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the name of channel (4 in SWAYAM PRABHA related to social science 2, Education,
Psychology, Homescience and related subjects ?

(1) SANSKRITI

(2) SAARASWAT

(3) PRABODH

(4) PRABANDHAN

Options:

878270106273. 1

878270106274. 2

878270106275. 3

878270106276. 4

Question Number : 9 Question Id : 87827026948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270106273. 1
878270106274. 2
878270106275. 3

878270106276. 4

Question Number : 10 Question Id : 87827026949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the learner related factors that influence learning ?
(A) Learner’s level of aspiration and achievement motivation
(B) Learner’s readiness and will power
(C) Basic potential of the learner
(D) Learner’s physical and mental health
(E) Personality traits and behaviour of teacher
Choose the correct answer from the options given below :
(1) (A), (B)and (E) Only
() (A), (B), (C) and (D) Only
() (C)and (E) Only
4) (C), (D) and (E) Only
Options:
878270106277. 1
878270106278. 2
878270106279. 3

878270106280. 4

Question Number : 10 Question Id : 87827026949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :



878270106277. 1
878270106278. 2
878270106279. 3

878270106280. 4

Question Number : 11 Question Id : 87827026950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Knowledge is arrived at through the gathering of facts that provide the basis for laws, This refers
to the principle of :

(1) Phenomenalism

(2)  Inductivism

3)  Deductivism

)
)
(3)

(4)  Constructionism
Options :
878270106281. 1
878270106282. 2
878270106283. 3

878270106284. 4

Question Number : 11 Question Id : 87827026950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



878270106281. 1
878270106282. 2
878270106283. 3

878270106284. 4

Question Number : 12 Question Id : 87827026951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following is concerned with the question of whether social scientific findings are
applicable to people’s everyday natural social setting ?
(1) Ecological validity
(2)  External validity
3)  Measurement validity
)

(2

(4)  Face validity
Options :
878270106285. 1
878270106286. 2
878270106287. 3

878270106288. 4

Question Number : 12 Question Id : 87827026951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270106285. 1
878270106286. 2
878270106287. 3

878270106288. 4

Question Number : 13 Question Id : 87827026952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : Spearman’s tho (p) is generally employed to measure the strength and direction
of relationship between two ordinal variables.

Statement (II) : Pearson’s coefficient of correlation 't is very useful when relationship between
two variables is curvilinear.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

Options :

878270106289. 1
878270106290. 2
878270106291. 3
878270106292. 4

Question Number : 13 Question Id : 87827026952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270106289. 1
878270106290. 2
878270106291. 3

878270106292. 4

Question Number : 14 Question Id : 87827026953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

[dentify non-probability samples from the following :

(A) Simple random sample

(B) Quota sample

(C) Systematic sample

(D) Snowball sample

Choose the correct answer from the options given below :
(1) (B), (C) and (D) Only

(2) (C) and (D) Only

(3) (A), (B) and (C) Only

(4) (B) and (D) Only

Options :
878270106293. 1

878270106294. 2
878270106295. 3



878270106296. 4

Question Number : 14 Question Id : 87827026953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
frafafe § 9 Tr-wfaewar afaest =t 9g=m =ifaa
(A) TR Jefess afdey
(B) f7ad AN (=hter) wieaet
(C) =Haftea wfaes
(D) feregs (Fraia) wfaes
(1) e (B), (C) $iR (D)

(2) e (C) SR (D)
(3) ad (A), (B) &R (C)
(4) = (B) @X (D)
Options :

878270106293. 1
878270106294. 2
878270106295. 3

878270106296. 4

Question Number : 15 Question Id : 87827026954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following sections of a research report are not considered for similarity checks while
detecting plagiarism ?

(A) Abstract

(B)  All generic terms, laws

(C) Observations

(D) Conclusions

(E) Bibliography

Choose the correct answer from the options given below :

(1) (A), (B) (C) and (D) Only

(2)  (B)and (E) Only

3) (E)Only

) (0, (D) and (E) Only

Options:
878270106297. 1
878270106298. 2

878270106299. 3

878270106300. 4

Question Number : 15 Question Id : 87827026954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270106297. 1
878270106298. 2
878270106299. 3

878270106300. 4

Question Number : 16 Question Id : 87827026955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When people intend meanings in their communication, they are dealing with :

(1) Projective time

(2) Fragmented time

(3) Perceptual time
)

(4) Psychology of time

Options :

878270106301. 1
878270106302. 2
878270106303. 3
878270106304. 4



Question Number : 16 Question Id : 87827026955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S9N o g § 319 TwiEd B €, o o frefafea 9 gefua 2 €

(1) eId 994

() @fred §94

(3) WICAlEF HHE
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Options :

878270106301. 1
878270106302. 2
878270106303. 3

878270106304. 4

Question Number : 17 Question Id : 87827026956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

According to the semiotic tradition, communication is
(1)  Extra-subjective
2)  Non-subjective

) Inter-subjective

)

_ mediation of signs :
(
(3
(4) Macro-subjective
Options :
878270106305. 1
878270106306. 2
878270106307. 3

878270106308. 4

Question Number : 17 Question Id : 87827026956 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tehd-fagm T & STER, TEWT Hhdl 6t TR ¢ |
(1) @ferer-eafaafs
2) R-=AfwETS
() FHAR-AfFTS
(4) =ATH- Al
Options:

878270106305. 1
878270106306. 2
878270106307. 3

878270106308. 4

Question Number : 18 Question Id : 87827026957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Buddhists use communication to highlight the phenomena of :
(A) Human hierarchy

(B) Impermanence

(C) Human suffering

(D) Non-self

(E) Social distance

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (), (D) and (E) Only

(4) (A), (D) and (E) Only

Options:
878270106309. 1

878270106310. 2

878270106311. 3



878270106312. 4

Question Number : 18 Question Id : 87827026957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
aiig @ =i w1 v Frefafea aftens i ger ' 8 T ¥ far e
(A) HAME GO
(B) TRl
(C) a3 UM
(D) TR-&TH
(E) wriomp gif
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Options :

878270106309. 1
878270106310. 2
878270106311. 3

878270106312. 4

Question Number : 19 Question Id : 87827026958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are social emotions displayed during inter-personal communication ?
(A) Embarrassment

(B) Guilt

(C) Shame

(D) Pride

(E

) Jealousy
Choose the correct answer from the options given below :

1) (A),( )and( ) Only
(2) (A), (C) and (D) Only

(3) (A), (B), (C )and (D) Only
@ () (8) () (D)and (B
Options:

878270106313. 1
878270106314. 2
878270106315. 3

878270106316. 4

Question Number : 19 Question Id : 87827026958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frafafes & 9 SF-0 gmifes weem § o< siae-oafaas 990 % SRA <o o & 2

NREEREIEET

(B) SIS

(C) et

D) ™

E 3=

< fou o fosed! § 9 W@ I 1 95 i ;
(1) & (A), (B) 3 (C)

() = (A), (C) R (D)

(3) % (A), (B), (O &R (D)

(@) (A), (B) (C), (D) 3 (E)



878270106313. 1
878270106314. 2
878270106315. 3

878270106316. 4

Question Number : 20 Question Id : 87827026959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : Non-verbal emotional expression precedes verbal communication in human life.
Statement (II) : Socialisation inculcates display norms for appropriate emotional communication.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1

) Both Statement I and Statement II are correct
2) Both Statement I and Statement II are incorrect

)

)

(
(3
(

Statement | 15 correct but Statement 1l is incorrect

Statement 1 is incorrect but Statement I is correct

Options :

878270106317. 1
878270106318. 2
878270106319. 3

878270106320. 4

Question Number : 20 Question Id : 87827026959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ﬁﬁmﬁum%:

FoA (1) : -y o sfveafad wa siteq | wfsss S0 § weel 2t €|
T (1) : TSR T WA Ty % e Tev A 1 safaf # g
SR FI & A 5, 1+ fou 7 fomel § 4 ved Iuge I 1 9 Fif
(1) a1 3 e 11 S o &

() TR FII I T &

(3) HUALTE ¢, ol HIA 1 T ¢

(4) R 1T &, AT HOR 1T &

Options:

878270106317. 1
878270106318. 2
878270106319. 3

878270106320. 4

Question Number : 21 Question Id : 87827026960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n a certain code :

"He 15 a world champion’ is written as ‘ya, sa, za, ma, ka’, "World is a family” is written as 'ma, sa,
ba, za' ‘Being champion is difficult’ is written as fa, sa, da, ka’. What are the codes for ‘champion’
and 'is' ?

(1) za,sa

(2) ma,sa

(3

)
) ka, sa
@)

ma, ka
Options :
878270106321. 1
878270106322. 2
878270106323. 3

878270106324. 4



Question Number : 21 Question Id : 87827026960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T Hiaud F2 ¥,

‘o U foava fasiar & &1 ‘o, @, o, | ' S w9 H foran S ¥,
‘fova w aferR &' 1 =, W, S w9 H forar S R,
foem e wfea e ®'F, W, 9, /' F I H formr 9 € @
“Fostar’ 9 ‘%' F fau s g2 &2

(1) =, -1
(2) HIL |
(3) I &I
(4) HI, =Rl
Options :

878270106321. 1
878270106322. 2
878270106323. 3

878270106324. 4

Question Number : 22 Question Id : 87827026961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Determine the next term in the following letter - cum - number series :
A2, BOX, CoW, DTV s P

(1) EBU
(2) ElIK
3) EI1l]
4) EeU
Options :

878270106325. 1

878270106326. 2



878270106327. 3
878270106328. 4

Question Number : 22 Question Id : 87827026961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

e S1ER-Te- 3 g@et § el Ug ok ¥R #ife .
A2Y, B3X, C6W, D7V, _ 2

(1) EBU
(2) EllK
&) Elll
(4) EsU
Options :

878270106325. 1
878270106326. 2
878270106327. 3

878270106328. 4

Question Number : 23 Question Id : 87827026962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A certain sum of money is lent at a compound interest rate of 10% per annum payable half-yearly.
What is the effective annual rate of interest ?
(1) 10.10%

(2) 10.16%

(3) 10.20%

(4) 10.25%
Options :

878270106329. 1
878270106330. 2

878270106331. 3



878270106332. 4

Question Number : 23 Question Id : 87827026962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T FHHAT SR 1 i &9 & 9 10% i Thafs o R F0 F €99 G T &1 I

& o At @ 2

(1) 10.10%

(2) 10.16%
) 10.20%
) 10.25%
Options:
878270106329. 1
878270106330. 2
878270106331. 3

878270106332. 4

Question Number : 24 Question Id : 87827026963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ram can finish a work in 18 days. Shyam is twice as efficient as Ram. If both of them start the
work together, how many days it will take them to finish the work ?

(1) 6 days

(2) 8days
(3) 9 days

(4) 12 days
Options :
878270106333. 1
878270106334. 2
878270106335. 3

878270106336. 4



Question Number : 24 Question Id : 87827026963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T T 7 1 18 T & T U9 &1 T R gor o v S e g | A o S O e
R FL A 3% A T w0 ¥ T fod w2

(1) 6fe

) 8fd

(3) 9fH

@) 12fH
Options :
878270106333. 1
878270106334. 2
878270106335. 3

878270106336. 4

Question Number : 25 Question Id : 87827026964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a class there are 8, 10, 25 and 17 students having their weights in the following ranges : 50 - 54
kg, 54 - 58 kg, 58 - 62 kg and 62 - 66 kg, respectively. What is the mean weight of a student of the
class ?

(1) 55.6 kg

(2) 565 kg

(3) 94 kg
(@) 602kg

Options:
878270106337. 1

878270106338. 2

878270106339. 3



878270106340. 4

Question Number : 25 Question Id : 87827026964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
F F& H 8, 10,259 17 foenfeal o oo 59 5054 Fam, 54-58 o, 58 - 62 fm. 9 62- 66
frm = A %1 o1 & 0 o 0 e e e €7
(1) 5.6
(2) 565w,
(3) 594 6.
(4) 602 .
Options :
878270106337. 1
878270106338. 2
878270106339. 3

878270106340. 4

Question Number : 26 Question Id : 87827026965 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged is order of increasing connotation ?
(1) Cow, bovine, mammal, vertebrate, animal
(2) Mammal, vertebrate, bovine, animal, cow
(3) Vertebrate, animal, mammal, bovine, cow
(4)  Amimal, vertebrate, mammal, bovine, cow

Options :

878270106341. 1
878270106342. 2
878270106343. 3

878270106344. 4



Question Number : 26 Question Id : 87827026965 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafad § § SF-1 e F Jed o1y § Srafem g2
(1) T, 7T, SaE, w9, 19

(2) AT, FRER], T E, TY, T

(3) HIIERI, WY, T, TSI, T

(4) T, HIER!, WEIEL, TIGE, T

Options :

878270106341. 1

878270106342. 2

878270106343 3

878270106344. 4

Question Number : 27 Question Id : 87827026966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I :  The concept of validity cannot be applied to single propositions.
Statement II:  The concept of truth cannot be applied to arguments.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1

) Both Statement I and Statement II are correct
2)  Both Statement I and Statement II are incorrect

)

)

(
(3
(4

Statement | is correct but Statement Il is incorrect
Statement [ s incorrect but Statement Il 1s correct

Options :
878270106345. 1

878270106346. 2

878270106347. 3



878270106348. 4

Question Number : 27 Question Id : 87827026966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

EHET IR R

FOAL: A F Fhed Tha Fagifiadl T AT Tl & TRl 2 |
FAA: T Fehed JfRm W ST Ta & Tl ¢ |

TR FU & e 8, = fo m fowed § § wed Suge IR i 99 Fife
(1) oA I 3T e 11 <HT T8 &

(2) HUFI 3R FHI I T e §
(3) U LFE &, wifehd A 1L 7Terd &
(4) YA [T 8, AR R [ HE #

Options :

878270106345. 1
878270106346. 2
878270106347. 3

878270106348. 4

Question Number : 28 Question Id : 87827026967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which fallacy in committed in the following argument “What is good for each individual type of

business cannot be bad for economy as a whole”. ?
(1) Red herring

(2) TFallacy of composition

(3) Slippery slope

(4)  False cause

Options :

878270106349. 1



878270106350. 2
878270106351. 3

878270106352. 4

Question Number : 28 Question Id : 87827026967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
fretferfign ofs § @ @ o < Fifea & - 9 70 wfied YR F wE & fou o 3 § 9
e areferary F fou e T @ s e ?
® R

Options :

878270106349. 1
878270106350. 2
878270106351. 3
878270106352. 4

Question Number : 29 Question Id : 87827026968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  The statement “Swati's mind is a tree always laden with fruitful ideas” is an
analogy.

Statement II:  The statement “Swati’s mind is a tree always laden with fruitful ideas” is only
descriptive in nature.

In the light of the above statements, choose the most appropriate answer from the options given

below :

()
o
(3) Statement I is correct but Statement Il is incorrect
@

Both Statement I and Statement II are correct
Both Statement I and Statement Il are incorrect

Statement [ is incorrect but Statement 11 is correct
Options :

878270106353. 1

878270106354. 2

878270106355. 3

878270106356. 4

Question Number : 29 Question Id : 87827026968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T q Fom UM g

T T O 9 E; S ged IR o & e " €1 - 7 F O €
T T P O 9, W Hea S fo W @@ T § 1 - T8 Fo e e ¢ |
TR TR & el §, T fou T foeredl H | W e I T Hif

(1) U1 S e 1S R

(2) YR ST HI I T €

() FURITE &, o HUF 1 T &

(4) RO Lo €, Wi e 1 &

Options :
878270106353. 1
878270106354. 2

878270106355. 3



878270106356. 4

Question Number : 30 Question Id : 87827026969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Among the five propositions in Nyaya syllogism the first (pratigia) coincides with
the fifth (nigaman).

Statement I1:  Among the five propositions in Nyaya syllogism the second (hetu) coincides with
the fourth (Upanaya).

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement Il is incorrect

(4) Statement I is incorrect but Statement Il is correct
Options :

878270106357. 1
878270106358. 2
878270106359. 3

878270106360. 4

Question Number : 30 Question Id : 87827026969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



LECERINH R

FH: I A e vt ¥ F gom (i) g9 (F) & orges 3 g
FAI: e = § O ot | 9 fde (1) %lg?i 30T % 369 el ¢ |
T B F e 5, A o T fomed § 9§ ued Suge I F1 99 Hif

(1) e 1 3 e 1 < o &

(2) R 3R FHIA S T &

(3) HARITE 2, A woR 11 TTerd &

(4) YR LT &, AR A L FE &

Options:

878270106357. 1
878270106358. 2
878270106359. 3

878270106360. 4

Question Number : 31 Question Id : 87827026970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : (21E);, = (341)y,
Statement (II) : (257);, = (101);,

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
(2
(3
(4

) Both Statement I and Statement II are incorrect
) Statement | is correct but Statement 11 is incorrect
) Statement I is incorrect but Statement I is correct

Options :

878270106361. 1
878270106362. 2
878270106363. 3

878270106364. 4



Question Number : 31 Question Id : 87827026970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

= SITHeE 9 WeW ek Yomferdl W SeTia < weA fou M g

FHT(): (2E)y, = (541)y,

HI (ID) : (257)y5 = (101),4

ST FOF & T §, A9 T T fowed § ¥ uad Iuged IR T wif
(1) oA 1 3 &M 11 <Hi Te &

(2) YA SR HIR 1 T e &
(3) YA LFE &, wifehd A LI 7Terd @
(4) AL &, AfhT HIT U HE ¢

Options :

878270106361. 1
878270106362. 2
878270106363. 3
878270106364. 4

Question Number : 32 Question Id : 87827026971 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  The most suitable storage medium for storing data on network server s a blu-ray
dlisc.

Statement (I) : An optical disc which cannot have data updations is a CD - ROM.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect
)

(4) Statement I is incorrect but Statement II is correct



Options :

878270106365. 1
878270106366. 2
878270106367. 3
878270106368. 4

Question Number : 32 Question Id : 87827026971 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
EEEE AR e
FUA (1) : 2T Hol T SRT YERT oY WAl SUgE WeRm WAy w1 fei 7
HUA (1) : F -1 37 T 7% yEwiE fer ot © o e ere T @ g €
TR HYA % e ¥, 1= T T fowed § 3 Wel Iuged IR F 99 i
(1) A 1 S e 11 ST Tt 2
(2) U1 S R T e
(3) TR IHE 8, Tl IR 1 Terd &
(4) IR 1T T, AR RO N TE §
Options :
878270106365. 1
878270106366. 2
878270106367. 3

878270106368. 4

Question Number : 33 Question Id : 87827026972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement (I) :  Webex by Dell Technologies, is the leading enterprise solution for video
conferencing, online meetings, screen share, and webinars,

Statement (II) : GIF is an image file format and stands for Graphics Interactive Format.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2)
(3) Statement I is correct but Statement II is incorrect
@)

Both Statement I and Statement Il are incorrect

Statement 1 is incorrect but Statement 11 is correct

Options :

878270106369. 1
878270106370. 2
878270106371. 3

878270106372. 4

Question Number : 33 Question Id : 87827026972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR Frfoum e
T (1) : S0 SHIANE Fl J9 Afeq FhY, AT 905, Thit Tedo AR AR TG
TTFH T (TEH) )

T (1) : S o TF T o T o1 € SR 25 0 ®Y WiRe $eNufRd W |
TR T F e 5, e e el § 4 e U T 9 i
(1) e HA N T8 &

() IR KR T

) TR T ol FIR LT &

(4) I LT ¢, il B LT &
Options :

878270106369. 1
878270106370. 2

878270106371. 3



878270106372. 4

Question Number : 34 Question Id : 87827026973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
A musician uses a broadband Internet connection to download music. In this context, which of
the following statements are true ?
(A) Some rural areas in India have poor broadband access.
(B) There is no need to dial up, broadband is always connected.
(C) You cannot use the landline phone at the same time while using the broadband Internet.
Choose the correct answer from the options given below :
(1) (A)and (B) Only

() (A)and (C) Only
(3) (B)and (C) Only
) (A),®and

Options :

878270106373. 1
878270106374. 2
878270106375. 3

878270106376. 4

Question Number : 34 Question Id : 87827026973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T Wiicen 9 SR H o F1E98 3201 i 1 W i ¢ | WH A, e an g
TR E!

(A) T H %@ T &5 H STeds 39 g ¢

(B) S A 1 IS A Tl €, 1T T 0 T B

C) IEHE 3THE FT T H WA AV AT B 1 TAN T B T ¢

e fou o fommedt o @ W I F T FHifow

Options:

878270106373. 1
878270106374. 2
878270106375. 3
878270106376. 4

Question Number : 35 Question Id : 87827026974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II

(Software) (Most appropriate use)
(A) Desktop publishing software  (I)  Keeping records of employees of large organisation
(B) Presentation software (Il)  Matching illness to symptoms
(C) Inference Engine (II) Producing a multimedia slideshow
Database software (IV) Producing a magazine

D)
Choose the correct answer from the options given below :

(1) (AHIV), (B) (I, (C) (1D, D)-
@ (A}), BRI, ©-(I), O)-1V)
() (AHIV), (B)- (Hl) -, O-(0)
(@) (AR, E)-0), ©-0, O)-AV)

Options :



878270106377. 1
878270106378. 2
878270106379. 3

878270106380. 4

Question Number : 35 Question Id : 87827026974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tell-1 & T Gel-1l 1 e i

gel-| gell-11

( HiwEa ) (raifires 3UgEa v )
(A) @Y Tfsf¥iT dRaR () 99T ¥ FHErE & diemEl & EEE
(B) TSy TiwRaR () <o 1 e @ faem S
) FFE I () Wt wifean wiee 9 s
(D) STy Hwa (V) wf e
= fqu e fosedi § & W S T FIC
(1)  (A}1V), (B)-(I), (C)-(Im), (D)-(T)
2) (A}, (B)-(), (1D, D)-IV)
(3)  (A}(1IV), (B)-(I), (C)-(), (D)-(T)
(4) (A, B, (©)-O. D)-V)
Options :

878270106377. 1
878270106378. 2
878270106379. 3

878270106380. 4

Question Number : 36 Question Id : 87827026975 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I :  The total solids (dissolved and suspended) in a waste water sample are the
materials left after water has evaporated from the sample.

Statement I1:  The dissolved solids fraction usually includes colloidal particles.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
Options :

878270106381. 1
878270106382. 2
878270106383. 3

878270106384. 4

Question Number : 36 Question Id : 87827026975 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T F fum e
FOL: A A & T H 5 o (fomtm ol felfen) T 3 9@ % avigd 3 F 9.
e i 2

o 11 ;  foa 3rg o & S #iee Fv i 8 €

TR T F e 5, e e el § 4 e U T 9 i
(1) e HA N T8 &

() IR KR T

) TR T ol FIR LT &

(4) I LT ¢, il B LT &
Options :

878270106381. 1
878270106382. 2

878270106383. 3



878270106384. 4

Question Number : 37 Question Id : 87827026976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : When a hazardous waste has either high or low pH value, it must be treated for
neutralization before discharge.

Statement (II) : Sulfuric acide and Hydrochloric acids are added to hazardous waste with low
pH value to neutralise it

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
Options :

878270106385. 1
878270106386. 2
878270106387. 3

878270106388. 4

Question Number : 37 Question Id : 87827026976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270106385. 1
878270106386. 2
878270106387. 3

878270106388. 4

Question Number : 38 Question Id : 87827026977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following gases were covered under Kyoto Protocol ?
(A) Carbon dioxide (CO,)

(B) Methane (CH,)

(C) Nitrogen dioxide (NO,)

(D) Nitrous oxide (N,O)

(E) Sulfur dioxide (50,)

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (A), {B ) and (C) Only

(3) (B), (C) and (D) Only

@) () {D ) and (E) Only

Options :

878270106389. 1



878270106390. 2
878270106391. 3

878270106392. 4

Question Number : 38 Question Id : 87827026977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Fopetfetfias & & = o T = STl ® siara e o 2
(A) A SESAFRS (COy)
(B) HI% (CH,)
(C) -TEENH SRATFES (NO,)
(D) ELH AHES (N,0)
(E) HH SEATHEES (SO,)

== fou v fawregi § 9 W& ST F =TI HifIC ;

(1) ed (A), (B) &R (D)
(2) ad (A), (B) &R (C)
(3) @ (B), (C) &R (D)
4) e (O), (D) ¥R (E)
Options :

878270106389. 1
878270106390. 2
878270106391. 3
878270106392. 4

Question Number : 39 Question Id : 87827026978 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Temperature inversion in the atmosphere mainly causes ?
(1) Dust storm

(2) Dispersion of air pollutants

(3) Accumulation of air pollutants

(4) Ozone depletion

Options :

878270106393. 1

878270106394. 2

878270106395. 3

878270106396. 4

Question Number : 39 Question Id : 87827026978 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270106393 1

878270106394, 2

878270106395. 3

878270106396. 4

Question Number : 40 Question Id : 87827026979 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in increasing order of DDT concentration among them as a result of
bioaccumulation/accumulation :

(A) Fish

(B) Water body

(C) Fish eating birds

(D) Zooplanklons

Choose the correct answer from the options given below :

M () 6) 0,0
QB 0@

) () )
G © O) @A) 6
(@) () (4), (©), D)

Options:

878270106397. 1
878270106398. 2
878270106399. 3

878270106400. 4

Question Number : 40 Question Id : 87827026979 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Frefefiaa 1 o e aear & TROTEa®Y 370 SIe1d) & Fohall o &) #o | ofaften Fife
(A) r@vﬁ
(B) el
(@) mwm&ﬂ
(D) Tiftrerarh
T fou o fomred! # @ W I H T Ffo0

Options :
878270106397. 1

878270106398. 2



878270106399. 3

878270106400. 4

Question Number : 41 Question Id : 87827026980 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following has been described as the Magna Carta of Indian education ?
(1) The Indian universities Act, 1904
(2) Hunter commission report
(3) Sargent plan
(4) The Education Dispatch of 1854
Options :
878270106401. 1
878270106402. 2
878270106403. 3

878270106404. 4

Question Number : 41 Question Id : 87827026980 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e o & frd aredtg foren s wRifenr- 95 &l 79 © 2
(1) wrdra favafaarea sfafaam, 1904

(2) B A gfdecA

(3) Wi AT

(4) 1854 =1 forem T (fedi=)
Options :

878270106401. 1
878270106402. 2
878270106403. 3

878270106404. 4



Question Number : 42 Question Id : 87827026981 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In its early years, the calcutta university had affiliated colleges even in :

(1) Afghanistan
(2) Kashmir
(3) Sri Lanka (Ceylon)
(4) Goa
Options :

878270106405. 1
878270106406. 2
878270106407. 3
878270106408. 4

Question Number : 42 Question Id : 87827026981 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A Ry g9 § e favafamem & = 4 o 99 gefaamE 9.

(1)  STEMEH
(2) FER
(3) e (Fem)
(4) T
Options:

878270106405. 1
878270106406. 2
878270106407. 3
878270106408. 4

Question Number : 43 Question Id : 87827026982 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I1
(Pre-Indepence College) (Place)
(A) Reid college () Allahabad
(B) Forman college (I) Aligarh
(C) Muir central college (III) Lucknow
{D) Anglo oriental college (IV) Lahore

Choose the correct answer from the options given below :
(1) m)- I), {B -(ID, (C)-(111), (D)-(IV)

(2) (A, {III} C)-(IV), (D)~(T)

@) (A (111), (B)-(IV), (©)-(1), (D)-(11)

) A) (IV), (B)-(I), (C)-(IT), (D)-(IIT)

Options :

878270106409. 1

878270106410. 2

878270106411. 3

878270106412. 4

Question Number : 43 Question Id : 87827026982 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Geil-1 & Ty gei-11 %1 fierm wifsn
Tell-1 Tt-11

(TEeET gd Hefaeed ) (7am)
(A) TS FrIw () scIemEE
(B) TRITHA STerst (II) STeTTg
(C) T H2d Hersl (IIl) &S
(D) Ural-Sdza et (IV) RR

e feu 7 fawedi d © W SO 1 994 ST
(1) (A)-(D), (B)-(1D), (C)-(IH) (D)-(IV)

(2)  (A)-(1D), (B)-(I11), ) (D)-(I)

(3) {A) ~(IIn), (B)-(IV), (C)-(I) (D)-(10)

) (A)IV), (B)-(I), (C)-(II), (D)~(ILI)
Options:

878270106409. 1

878270106410. 2

878270106411.3

878270106412. 4

Question Number : 44 Question Id : 87827026983 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  In Nalanda, apart from Buddhist canonical texts, the vedas were also taught.

Statement II: However, attempts were made to discourage the teaching of literature of the
rival religions.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

2

(3) Statement I is correct but Statement II is incorrect

@)

Both Statement I and Statement Il are incorrect

Statement 1 is incorrect but Statement 11 is correct

Options :



878270106413. 1
878270106414. 2
878270106415. 3

878270106416. 4

Question Number : 44 Question Id : 87827026983 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270106413. 1
878270106414 2
878270106415. 3

878270106416. 4

Question Number : 45 Question Id : 87827026984 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I :  India spends one of the lowest amounts per student for higher education in the
world.

Statement II:  The percentage expenditure on university and higher education in India was
(.77 percent in 1990 - 91 and it declined to 0.66 percent in 2004 - 2005,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1

) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
)

)

(3
(4

Statement | 1s correct but Statement 1l 1s incorrect
Statement [ is incorrect but Statement 11 is correct

Options :

878270106417. 1
878270106418. 2
878270106419. 3

878270106420. 4

Question Number : 45 Question Id : 87827026984 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270106417. 1

878270106418. 2



878270106419. 3
878270106420. 4

Sub-Section Number : 3
Sub-Section Id : 8782701169
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827026985 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Over the past 160 years, life expectancy in the industrialized world has increased at the steady
rate of a quarter year every year. At first, the change was driven by the spread of things today
often taken for granted : clean water, sewage and waste disposal, better nutrition, vaccines, and
antibiotics. By the late 1970s, these innovations had reached the point of diminishing returns, yet
at almost the same time, new technologies began to produce real gains in the fight against the most
deadly remaining threats : cancer, heart disease, and strokes. Even counting the least development
countries, the average person worldwide can expect to live to nearly 70 up from the mid 30s at the
turn of the twentieth century.

Though, the future is certainly impossible to predict, many forward looking thinkers have begun
to broach the possibility that at some point in the next twenty years a child will be born who will
live to the now unimaginable age of one hundred forty; his of her children may, in turn look
forward to a world in which there exists no “Natural” limit on the age to which one might expect
to live. Barring random accident or deliberate homicide, men and women separated from us by
only two generations might live indefinitely. In principle, all that is required is for technology to
continue advancing faster than one ages.

Such optimism must, however, be tempered with an awareness of life's social and physical limitations.
Today’s developing technologies will no doubt be expensive and increasingly so at the upper ends
of the age spectrum, further increasing the gap between rich and poor. As lifespan increases,
previously rare maladies will loom even larger. Alzheimer’s, a growing threat to today’s elderly,
was almost unknown before the 19505, primarily because, statistically speaking most people died
before symptoms developed.

Sub questions

Question Number : 46 Question Id : 87827026986 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The increase in life expectancy was initially due to the availability of :
(A) New technologies

(B) Clean water

(C) Vaccines

(D) Antibiotics

(E) Better nutrition

Choose the correct answer from the options given below :
(1) (A), (©), (D) and (E) Only

(2) (A) and (D) Only

(3) (B), (C), (D) and (E) Only

4) (A) and (C) Only

Options :
878270106421. 1
878270106422. 2

878270106423. 3
878270106424. 4

Question Number : 47 Question Id : 87827026987 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Many “forward looking thinkers” predict that in the next twenty years, life expectancy will :
(1) Increase marginally
2)  Decrease

) Remain static

)

(
(3
(4) Increase dramatically
Options:
878270106425. 1
878270106426. 2
878270106427.3

878270106428. 4



Question Number : 48 Question Id : 87827026988 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Alzheimers, was almost unknown before the 1950's because :
(1) People were healthier.
(2) They took proper nutrition.
(3) People died before the onset of the disease.
(4) People did physical work.
Options :
878270106429. 1
878270106430. 2
878270106431. 3

878270106432. 4

Question Number : 49 Question Id : 87827026989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is true about promising new technologies ?

(A) They will be expensive for older people

(B) They will give rise to rare maladies

(C) They will increase the gap between the rich and the poor
(D) They will be harmful

Choose the correct answer from the options given below :

(1) (A) and (C) Only

(2) (A), (B) and (C) Only

(3) (B), (C) and (D) Only

(4) (C) and (D) Only

Options :
878270106433. 1

878270106434. 2

878270106435. 3



878270106436. 4

Question Number : 50 Question Id : 87827026990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : Promising new technologies will not increase the life span of the people living in
the least developed countries.

Statement (II) : Promising new technologies to extend human lifespan will successfully overcome
all social and physical limitations.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
Options :

878270106437. 1
878270106438. 2
878270106439. 3

878270106440. 4

Question Id : 87827026985 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827026986 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(B) ==3 v

(C) e
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(E) | 999y
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(1) e (A), (C), (D) 3R (E)

(2) A (A) SR (D)

(3) %9 (B), (O), (D) 3 (E)
(4) hE (A) 3R (Q)
Options:

878270106421. 1
878270106422. 2
878270106423. 3

878270106424. 4

Question Number : 47 Question Id : 87827026987 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
ek 'yl ol 1 qaEE € R ol ot ol § Se-gafemd |
(1) gt
()
(3) e fer
(@) gt
Options :
878270106425. 1
878270106426. 2
878270106427. 3
878270106428. 4



Question Number : 48 Question Id : 87827026988 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270106429. 1
878270106430. 2
878270106431. 3
878270106432. 4

Question Number : 49 Question Id : 87827026989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



878270106433. 1
878270106434. 2
878270106435. 3

878270106436. 4

Question Number : 50 Question Id : 87827026990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270106437. 1

878270106438. 2

878270106439. 3

878270106440. 4

Pali
SectionId: 878270757
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 8782701170
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 87827026991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
“Vayadhamma Sankhira appamidena sampidetha” is :
(1) First utterance (udina)
(2) First preaching
(3) Last Utterance (udina)
(4) Last preaching
Options :
878270106441. 1
878270106442. 2
878270106443. 3

878270106444. 4

Question Number : 51 Question Id : 87827026991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 999 3I|H
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Options :

878270106441. 1
878270106442. 2
878270106443. 3

878270106444. 4

Question Number : 52 Question Id : 87827026992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The text to which the following verse belongs to :
Uttamarm uttamangena namassitva mahesino,
Nibbanamadhudarh padapankajarm sajjanalinam.
(1) Visuddhimagga
(2) Milindapaiiha
(3) Jinacarita
(4) Abhidhammatthasangaha
Options :
878270106445. 1
878270106446. 2
878270106447. 3

878270106448. 4

Question Number : 52 Question Id : 87827026992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270106445. 1
878270106446. 2
878270106447. 3

878270106448. 4

Question Number : 53 Question Id : 87827026993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The first utterance (udana) of Lord Buddha was delivered at :
(1) Bodhirukkhamiile

(2) Ajapalanigrodhamile

(3) Mucalindamile

(4) Rajayatanamile
Options :

878270106449. 1
878270106450. 2
878270106451. 3
878270106452. 4

Question Number : 53 Question Id : 87827026993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4) TSI
Options:

878270106449. 1
878270106450. 2
878270106451. 3
878270106452. 4

Question Number : 54 Question Id : 87827026994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following scholar does not accept the First Buddhist Council as a historical
event ?

(1) Winternitz

(2) Oldenberg

(3) Geiger

(4) Ludars
Options :
878270106453. 1
878270106454. 2
878270106455. 3

878270106456. 4

Question Number : 54 Question Id : 87827026994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafea § 9 fg w fagm = gom 9oifa =1 tfaefas sea & a8 2

(1) fometfre
@) sHeeTs
(3) TR
@) TI=H
Options:

878270106453. 1
878270106454. 2
878270106455. 3

878270106456. 4

Question Number : 55 Question Id : 87827026995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The past participle of the verbal form Vivarati is :
(1) Vivata
(2) Vivarata
(3) Vivatta
(4) Vivaitha
Options :
878270106457. 1
878270106458. 2
878270106459. 3

878270106460. 4

Question Number : 55 Question Id : 87827026995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



foFamae ‘faaifa’ 1 yaswfas Fed ©

(1) fa=e
2) foaw
(3) faam
4) fomg
Options:

878270106457. 1
878270106458. 2
878270106459. 3

878270106460. 4

Question Number : 56 Question Id : 87827026996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Choose the correct option for the word ‘Pacissari’

(I) Used in the attanopada of root ‘Paca’

(2) Used in the parassapada of root 'Paca’

(3) A factor found in the declension of the word Pacita
(4) Past participle of root "‘Paca’

Options :

878270106461. 1
878270106462. 2
878270106463. 3

878270106464. 4

Question Number : 56 Question Id : 87827026996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Ofeg vree & Ta9g § 9l fashed =1 99 &
(1) ‘99’ u1g &1 IS H F=G

(2) ‘T’ Y F IS g4

(3) ufed I & V=& & UF AT

(4) ‘"=’ 9= YdhIch Hed

Options:

878270106461. 1
878270106462. 2
878270106463. 3

878270106464. 4

Question Number : 57 Question Id : 87827026997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Nagaranam Samitho® ti :
(1) Nagara

(2) Nagarata

(3) Nagarato

(4) Nagaro
Options :

878270106465. 1
878270106466. 2
878270106467. 3

878270106468. 4

Question Number : 57 Question Id : 87827026997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AR w9l 4

(1) A
(2) FAFRE
(3) HATTA
(4) AR
Options :

878270106465. 1
878270106466. 2
878270106467. 3

878270106468. 4

Question Number : 58 Question Id : 87827026998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[dentify the Samasa in the word “Sitarm’ :
(1) Tappurisa

(2) Bahubbihi

(3) Avyayibhava

(4) Kammadharaya
Options :

8782701064609. 1
878270106470. 2
878270106471. 3

878270106472. 4

Question Number : 58 Question Id : 87827026998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) TR
() wEife
(3) FAAINE
(4) <HYRET
Options:

8782701064609. 1
878270106470. 2
878270106471. 3

878270106472. 4

Question Number : 59 Question Id : 87827026999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which pitaka is not taught to the “Sramanera’ ?
(1) Vinaya pitaka
(2) Sutta pitaka

(3) Abhidhamma pitaka

(4) Anupitaka

Options :

878270106473. 1

878270106474. 2

878270106475. 3

878270106476. 4

Question Number : 59 Question Id : 87827026999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e e o1 FmUR I &l T < € ?

(1) foa T

2) ¥ fe=

(3) Ay fuzs

(4) e
Options:

878270106473. 1
878270106474. 2
878270106475. 3

878270106476. 4

Question Number : 60 Question Id : 87827027000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Among the thirty-four sthavira Lineage of the Vinaya tradition according to the Text ‘Parivira,’

the first sthavira was :

(1) Buddha
(2) Upali
(3) Dasaka
(4) Sonaka
Options :
878270106477. 1
878270106478. 2
878270106479. 3

878270106480. 4

Question Number : 60 Question Id : 87827027000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘afer’ T & FTER e wfer-difed o i foma-aorn | vt wfm e

1) 9%
) Ul
(3) TEH
4) HH
Options:

878270106477. 1
878270106478. 2
878270106479. 3
878270106480. 4

Question Number : 61 Question Id : 87827027001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The “Suppatittha Cetiya” was located at :

(1) Rajagira

(2) Pataliputta

(3) Nalanda
(4) Gaya
Options :

878270106481. 1
878270106482. 2
878270106483. 3
878270106484. 4

Question Number : 61 Question Id : 87827027001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Y yguafag Sfdd’ T T IR sTE e 91 —

(1) TR
(2) TR
(3) <
4) ™I
Options:

878270106481. 1
878270106482. 2
878270106483. 3

878270106484. 4

Question Number : 62 Question Id : 87827027002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The conversation between ‘Huhunkajitika’ Brahamana and the Buddha was held under the tree :
(1) Mucalinda

(2) Ajapilanigrodha
3

(
(4

)

) Réjayatana
) Bodhirukkha
Options :
878270106485. 1
878270106486. 2
878270106487. 3
878270106488. 4

Question Number : 62 Question Id : 87827027002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEgIdeh ST § G I Harg 5| ga1 & = g1 o —

1) Hafa=

(2) TSI

(3)  TSIEaH

(4) dfyeag
Options :

878270106485. 1
878270106486. 2
878270106487. 3

878270106488. 4

Question Number : 63 Question Id : 87827027003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Which of the following sutta of the Dighanikaya has been compiled in the Majjhimanikaya as

Satipatthinasutta ?

(1) Mahasamayasutta

2
(

Mahasatipatthinasutta

]

; Mahipadinasutta
(4) Mahanidanasutta
Options :
878270106489. 1
878270106490. 2
878270106491. 3

878270106492. 4

Question Number : 63 Question Id : 87827027003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



St & fefafad gol § @ $E-81 g Alemere § Hiqugg & AW 4 G 87
(1) R

(2) R
(3) HETeTTT
(4) TR
Options:
878270106489. 1
878270106490. 2
878270106491. 3

878270106492. 4

Question Number : 64 Question Id : 87827027004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Who among the following was the disciple of Suppiya Paribbajaka ?
(1) Brahmadatta Manavaka
(2) Kutadanta Minavaka
(3) Bhardvaja Manavaka
(4) Vasettha Minavaka
Options :
878270106493. 1
878270106494. 2
878270106495. 3

878270106496. 4

Question Number : 64 Question Id : 87827027004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafad 4 9§ =6 o gt 9fismss &1 s a2
(1) S=IeH A

(2) o HIUEH

(3) HRgTS] |G

(4) ST AT
Options:

878270106493. 1
878270106494. 2
878270106495. 3

878270106496. 4

Question Number : 65 Question Id : 87827027005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

“Adikalyanam majjhekalyinam pariyosinakalyanam sittham sabyafjanarm kevalaparipunnam

parisuddharh brahmacariyam pakaseti”.

The characteristics of which one of the following is indicated in the above sentence ?

) Buddha
) Dharma
) Sangha
) Triratna
Options :
878270106497. 1
878270106498. 2
878270106499. 3

878270106500. 4

Question Number : 65 Question Id : 87827027005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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3 ar § Tt § 4 frgent fom aqg & &7
1 98
@
(3) T
(4) e
Options:

878270106497. 1
878270106498. 2
878270106499. 3

878270106500. 4

Question Number : 66 Question Id : 87827027006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“Khina jati, vusitam Brahmacariyarm, katam, karaniyarh, naparar itthattaya”.
The inherent meaning of the said statement is :

(1) Attainment of Nibbapa

(2) Practicing Celebacy

(3) Taking Birth

(4) Perform Deeds
Options :

878270106501. 1
878270106502. 2
878270106503. 3
878270106504. 4

Question Number : 66 Question Id : 87827027006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) =M I wiftd

(2) SE=d & T

(3) oAl

(4) d Tl
Options :

878270106501. 1
878270106502. 2
878270106503. 3

878270106504. 4

Question Number : 67 Question Id : 87827027007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Ambapali-ambavana is located at :
(1) Rajgrih
(2) Pataliputra
(3) Gayasisa
(4) Vaishali
Options:
878270106505. 1
878270106506. 2
878270106507. 3

878270106508. 4

Question Number : 67 Question Id : 87827027007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



(1) MENE
(2) Tefaga
(3) TATEHE
(4) ST
Options:

878270106505. 1
878270106506. 2
878270106507. 3

878270106508. 4

Question Number : 68 Question Id : 87827027008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
The utterances of Mahapajapati Gotami are available in :
(1) Jataka
(2) Therigatha
(3) Cariyapitaka
(4) Itivuttaka
Options :
878270106509. 1
878270106510. 2
878270106511. 3

878270106512. 4

Question Number : 68 Question Id : 87827027008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eI fd Tt o SR foes Sue= € :

(1) Sk

(2) ofmen

() =fEfies

4) sfagT®
Options:

878270106509. 1
878270106510. 2
878270106511. 3
878270106512. 4

Question Number : 69 Question Id : 87827027009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Cittassa damatho sadhu dantar sukhavahar.
(1) Cittam

(2) Cetasikam

(3) Ruoparm

(4 ; Nibbanam
Options :
878270106513. 1
878270106514. 2
878270106515. 3
878270106516. 4

Question Number : 69 Question Id : 87827027009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R gRaTEy _  E< gEeEeE |

1) f==

(2) =fEeh

(3) 9

@) T=H
Options:

878270106513. 1
878270106514. 2
878270106515. 3

878270106516. 4

Question Number : 70 Question Id : 87827027010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

“Appamaida’ is not associated with :

(1) Amatapadam

(2) Nibbanar

(3) Yogakkhemam
(4) Asantapadarm
Options :
878270106517. 1
878270106518. 2
878270106519. 3

878270106520. 4

Question Number : 70 Question Id : 87827027010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) oI9S
) f=H
(3) HANEEH
4) SE=UE
Options:

878270106517. 1
878270106518. 2
878270106519. 3
878270106520. 4

Question Number : 71 Question Id : 87827027011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Katame dhamma anupadinnupadaniya ?

(1) 32
(2) 49
(3) 08
(4) 04
Options :

878270106521. 1
878270106522. 2
878270106523. 3
878270106524. 4

Question Number : 71 Question Id : 87827027011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1y A2
(2) 49
(3) 08
(4) 04
Options:

878270106521. 1
878270106522. 2
878270106523. 3

878270106524. 4

Question Number : 72 Question Id : 87827027012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
“Santirana Citta’ under the “Ahetuka kusala vipika citta” is associated with :
(1) upekkha
(2) somanassa
(
(

3) upekkha and somanassa
4)

upekkhi and domanassa

Options :

878270106525. 1
878270106526. 2
878270106527. 3
878270106528. 4

Question Number : 72 Question Id : 87827027012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



sTeqe Foa faue faw o srwta  g=i fom’ S s €
(1) S9FE 4
(2) HHTE Y
(3) SUeEr iR WA ST |
4) S SR ST SEl |
Options:
878270106525. 1
878270106526. 2

878270106527. 3
878270106528. 4

Question Number : 73 Question Id : 87827027013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sopiadhisesa Nibbdna is otherwise known as :

(1) Kilesa Nibbana

(2) Khandha Nibbana

(3) Nibbana Dhatu

(4) Anuttara Nibbana
Options :

878270106529. 1
878270106530. 2
878270106531. 3
878270106532. 4

Question Number : 73 Question Id : 87827027013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



grarferds feam S sg M 4 ff S S

(1) Twrem F=mH

(2) @Y H=EA

3) fr=am g

(4) SR Feam
Options :

878270106529. 1
878270106530. 2
878270106531. 3

878270106532. 4

Question Number : 74 Question Id : 87827027014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A father explained to his son that he had been cheated. The son becomes sad, what type of citta
would the son have at that point of time ?
(1) Dukkha-sahagatam patigha sampayuttarn aspkharikam

(2)  Domanassa-sahagatam patigha sampayuttam sasapkhirikarm
(3) Upekkha-sahagatar vicikiccha sampayuttar sasankharikarn
(4)  Upekkha-sahagatarn vicikicchd sampayuttar asankharikam

Options :

878270106533. 1
878270106534. 2
878270106535. 3

878270106536. 4

Question Number : 74 Question Id : 87827027014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270106533. 1
878270106534. 2
878270106535. 3
878270106536. 4

Question Number : 75 Question Id : 87827027015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

In the Milindapaiiha, “Veda" is kept under :

(1) Sippa

(2) Sattha

(3) Sikkha

(4) Anupitaka
Options :

878270106537. 1
878270106538. 2
878270106539. 3
878270106540. 4

Question Number : 75 Question Id : 87827027015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fafa<g= # ‘9’ = fFaF 3Ta @ T e ?

(1) fH=

(2) S

(3) T

(4) eTIfes
Options :

878270106537. 1
878270106538. 2
878270106539. 3
878270106540. 4

Question Number : 76 Question Id : 87827027016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
‘Kena karapena manussa na sabbe samaka ?
(1) Ksmmanam nanakaranena
(2) Bijanarh nanikaranpena
(3) Silanamh naniakaranena
(4) Cittanam nanakaranpena
Options:
878270106541. 1
878270106542. 2
878270106543. 3

878270106544. 4

Question Number : 76 Question Id : 87827027016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



" HUE AT T Hedl HHeET 7
(1) ™ AR

(2) ST AR

(3) Hrermd T

@) faam TFTRTEE
Options:

878270106541. 1
878270106542. 2
878270106543. 3

878270106544. 4

Question Number : 77 Question Id : 87827027017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Milindo nama so raja, Sagaliyarn puruttame |
Upagechi nagasenar ganga ca yatha sagaram | |
The case-ending in the "Sagalayam’ 1s :
(1) Pathama

(2) Dutiya

(3) Pancami

(4) Sattami
Options :

878270106545. 1
878270106546. 2
878270106547. 3
878270106548. 4

Question Number : 77 Question Id : 87827027017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



faferer T =t Tr=7, 9rren gEed |
Iqnfes ATEH, TET = 99T 9 | |

‘e’ | favfad & —
(1) YeHI

2) gfeem

(3) T

(4) @
Options:

878270106545. 1
878270106546. 2
878270106547. 3

878270106548. 4

Question Number : 78 Question Id : 87827027018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Bhikkhus! Among my Vinayadhara disciples Upali is the best”.
The statement of the Buddha is found in
(1) Mahavagga
(2) Cullavagga
(3) Anguttara nikaya
(4) Parivara
Options :
878270106549. 1
878270106550. 2
878270106551. 3

878270106552. 4

Question Number : 78 Question Id : 87827027018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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1) HeEm

Options :

878270106549. 1
878270106550. 2
878270106551. 3

878270106552. 4

Question Number : 79 Question Id : 87827027019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The function of the Morality is :

(1) Not curtailment of physical and vocal misdeeds
(2) Destruction of bad conduct

(3) Removal of disturbance

(4) Removal of bad temperaments

Options :

878270106553. 1
878270106554. 2
878270106555. 3

878270106556. 4

Question Number : 79 Question Id : 87827027019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HaFFET :
(1) I T aEfas SF9a 98 ] ®H T8 HE1|

(2) g:¥ired gl B g R

() faga = T HE

(4) T HATIE I F FAT
Options:

878270106553. 1
878270106554. 2
878270106555. 3
878270106556. 4

Question Number : 80 Question Id : 87827027020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The credit of composing Atthakatha in verse form goes to :
(1) Dhammapala

(2) Buddhadatta
(3) Buddhaghosa
(4) Ananda

Options :

878270106557. 1
878270106558. 2
878270106559. 3
878270106560. 4

Question Number : 80 Question Id : 87827027020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e % ®Y H AgFHAE I A FA F I T

(1) Y=Y
(2) Tsed
(3) I&HH
(4) A<
Options:

878270106557. 1
878270106558. 2
878270106559. 3

878270106560. 4

Question Number : 81 Question Id : 87827027021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The word “Jatd’ is the designated term of :
(1) Network of desires

(2) Matted hairs

(3) Mixed

(4) Fool

Options :

878270106561. 1
878270106562. 2
878270106563. 3

878270106564. 4

Question Number : 81 Question Id : 87827027021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘S’ v AfyeEE ©

(1) gomsd &1 ST
(2) A9 T I
(3) Tafsa
@4 7=

Options:

878270106561. 1
878270106562. 2
878270106563. 3
878270106564. 4

Question Number : 82 Question Id : 87827027022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the word "Visuddhimagga’, the word ‘Magga’ is used in the sense of :
(1) Path
(2) Way
(3) Course
(4) Means
Options :
878270106565. 1
878270106566. 2
878270106567. 3

878270106568. 4

Question Number : 82 Question Id : 87827027022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘fegfgrm' v d'a s A H A R T

(1) =nf
(2) T
(3) dify
(4) <S94
Options:

878270106565. 1
878270106566. 2
878270106567. 3

878270106568. 4

Question Number : 83 Question Id : 87827027023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The text Samantakitavannana is written by :
(1) Kakusandha

(2) Dhammkitti

(3) Vedehathera

(4) Vacissara
Options :
878270106569. 1
878270106570. 2
878270106571. 3

878270106572. 4

Question Number : 83 Question Id : 87827027023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



2k BRI HH-ah2duo ol M —

(1) =PHEH
(2) ymAfRd
(3) deEN
(4) aEER
Options:

878270106569. 1
878270106570. 2
878270106571. 3

878270106572. 4

Question Number : 84 Question Id : 87827027024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which one of the following pair is correct :
(1) Thupavarnsa - Upatissa
(2) Mahabodhivamsa - Mahanama
(3) Sarmhgitivamsa - Kakusandha
(4) Dathavamsa - Dhammakitti

Options :

878270106573. 1

878270106574. 2

878270106575. 3

878270106576. 4

Question Number : 84 Question Id : 87827027024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options:

878270106573. 1
878270106574. 2
878270106575. 3
878270106576. 4

Question Number : 85 Question Id : 87827027025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

‘Khettarn va Dehi gamam va desam va mama sobhanam’

Which one of the following Vakyadosa is found in the above quotation ?

(1) Avyakirpa

(2) Apetartha
(3) Kramacyuta
(4) Anarthaka

Options :

878270106577. 1
878270106578. 2
878270106579. 3
878270106580. 4

Question Number : 85 Question Id : 87827027025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘g a1 <fe g a1 < a1 Hy e

I 3G H T SIS T S|l € —
(1) or=A=R
(2) e
(3) shH=d
(4) od®
Options:

878270106577. 1
878270106578. 2
878270106579. 3

878270106580. 4

Question Number : 86 Question Id : 87827027026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Gambhiratta Mahattadi Guna Jaladhina Jina

Tulyo bhedo tu sarirenedisena Te.

Which one of the following Alamkara is found in the above gatha ?

(1) Vibhavana

(2) Dipaka
(3) Malopama
(4) Vyatireka
Options :
878270106581. 1
878270106582. 2
878270106583. 3

878270106584. 4

Question Number : 86 Question Id : 87827027026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

TR Hewe 7 SteAfer 5 1

el Hel  TAfeg 11

ST M H A% SRR T A T —

(1) fawmEm

(2) <UH

(3) HETH
(4) =af@=
Options:
878270106581. 1
878270106582. 2
878270106583. 3

878270106584. 4

Question Number : 87 Question Id : 87827027027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Orammabhigiya indicates :

(I) Bojjhanga

(2) Asava

(3) Samyojana

(4) Nivarana
Options :

878270106585. 1
878270106586. 2
878270106587. 3

878270106588. 4

Question Number : 87 Question Id : 87827027027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

(1) =g
(2) ™A
(3) EITSH
@) e
Options :

878270106585. 1
878270106586. 2
878270106587. 3

878270106588. 4

Question Number : 88 Question Id : 87827027028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Which one of the following pair is not correct ?

(1) Kama - Nivarana

(2) Bhava - Sariyojana

4 Vicikiccha - Aasava

(3) Pania - Indriya
(4)

Options :
878270106589. 1
878270106590. 2
878270106591. 3

878270106592. 4

Question Number : 88 Question Id : 87827027028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) =M - BICEU!

(2) ¥Hd- ERIEE]

(3) Usel - 3f=4

@) fafafe=r - e
Options:

878270106589. 1
878270106590. 2
878270106591. 3

878270106592. 4

Question Number : 89 Question Id : 87827027029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Vedana arises from :
(1) Namarupam

(2) Tanpha
(3) Phasso
4} Vinfianar
Options :

878270106593. 1
878270106594. 2
878270106595. 3

878270106596. 4

Question Number : 89 Question Id : 87827027029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e THY 309 Bidl € —

(1) =&Y
(2) el
(3)
4) forsem
Options:

878270106593. 1
878270106594. 2
878270106595. 3

878270106596. 4

Question Number : 90 Question Id : 87827027030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The one who has attained enlightenment but lives in solitude is called :
(1) Arahata
(2) Sambuddha
(3) Bodhisattva
(4) Paccekabuddha
Options :
878270106597. 1
878270106598. 2
878270106599. 3

878270106600. 4

Question Number : 90 Question Id : 87827027030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e o g = forn ® i U faerll @ SR Hed ¥ —

(1) Sed

(2) ¥H4s

(3) SifaEE

(4) T=FIS
Options:

878270106597. 1
878270106598. 2
878270106599. 3

878270106600. 4

Question Number : 91 Question Id : 87827027031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The two meals of Lord Buddha mentioned in Mahaparinibbina sutta are :
(A) Meal of Subhadda

(B) Meal of Visettha

(C) Meal of Ambapali Ganika

(D) Meal of Cunda

(E) Meal of Anathapindika

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (B), (C) and (E) Only

(3) (B) and (C) Only

(4) (C) and (D) Only

Options :

878270106601. 1
878270106602. 2
878270106603. 3
878270106604. 4

Question Number : 91 Question Id : 87827027031 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

weaf T H e g5 6 o 1 e w1 e e €
(A) GHE I GrSH

(B) &g 1 IS

(C) FA=YTE! TIUTRT 1 HiSH

(D) =< 1 SIS

(E) erafufrss w1 d=H

3 fau 7o fawedi § S W@ IR F =9 HfC

el (A), (B) 3R (D)

el (B), (C) 3 (E)

(1)
(2)
3)
)

3) had (B) 3R ()
(4) @ad () F (D)
Options :

878270106601. 1
878270106602. 2
878270106603. 3

878270106604. 4

Question Number : 92 Question Id : 87827027032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following three are mentioned in the Ariyapariyesanasutta ?
(A) Mahabhiniskramana

(B) Abhisambodhi

(C) Dharmacakrapravartana

(D) Parmairtha Dharma

(E) Mahaparinirvana

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

) (A), (O and (E) Only

(3) (B), (C) and (D) Only

(4) (A), (B) and (E) Only

Options:

878270106605. 1

878270106606. 2

878270106607. 3

878270106608. 4

Question Number : 92 Question Id : 87827027032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frefafeaa § § fa &4 1 9o sfeafeeags o faea €2
(A)  wEIfafTeRA
(B) gty
(C) gHEhRTEdA
(D) e
(E) wemRfamm
= feu 7o fawedi § 9 WEl I F T Hifod :
(1) el (A), (B) 3 (C)
(2) = (A), (O) 3 (E)
(3) aE (B), (O) ¥R (D)
(4) A (A), (B) 3R (E)

Options :



878270106605. 1
878270106606. 2
878270106607. 3

878270106608. 4

Question Number : 93 Question Id : 87827027033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
The texts written by Vanaratana Medhankara are :
(A) Jinalankara
(B) Jinacarita
(C) Payogasiddhi
(D) Saddanit
(E) Thopavarisa
Choose the correct answer from the options given below :
(I) (A) and (B) Only
(2) (B) and (C) Only
(3) (B) and (D) Only
4) (C) and (E) Only
Options :
878270106609. 1
878270106610. 2
878270106611. 3

878270106612. 4

Question Number : 93 Question Id : 87827027033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



(A) TSAEFRR

(B) Ter=id

(C) wEmtafs

(D) weHifa

(B) ¥vad

e feu v fawedi d 9 |E IHL 1 99 Hifo
(1) el (A) R (B)

(2) @ (B) R (C)
(3) ®de (B) 3R (D)
(4) Hae (O) &R (B)
Options:

878270106609. 1
878270106610. 2
878270106611. 3

878270106612. 4

Question Number : 94 Question Id : 87827027034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The optative form (Pathama purisa, ekavacana) of root “as’ is :
(A) assa
(B) siya
(C) assam
(D)  siyum
(E) siyu
Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (C) and (D) Only
(3) (A) and (E) Only
4) (D) and (E) Only

Options :



878270106613. 1
878270106614. 2
878270106615. 3

878270106616. 4

Question Number : 94 Question Id : 87827027034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘a1|’ urg o1 fafufag (YeH 9ftd, Tswhae=r) H &9 80|
(A) 3TH

(B) Tam

(C) o

(D) f&q

® f&7

== feu 7o fawedi § 9 W& SO F =994 FifeT

1) had (A) 3 (B)

2) ad (C) ¥R (D)

(3) wHad (A E)
@) (%@ D E)

Options :

(
( 3R
) ST (
) ST (
878270106613. 1
878270106614. 2
878270106615. 3

878270106616. 4

Question Number : 95 Question Id : 87827027035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



[dentify the examples of Vomissaka Sandhi :
(A) Sotthi

(B) Palibodho

(C) Evamsa

(D) Tasahar

(E) Pageva
Choose the correct answer from the options given below :

(I) (A) and (B) Only

(2) (C) and (D) Only

(3) (A), (B) and (C) Only
(4) (B) and (E) Only
Options :

878270106617. 1
878270106618. 2
878270106619. 3

878270106620. 4

Question Number : 95 Question Id : 87827027035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Sifgegs 9 & IR &l TEdH |
(A) Hred
(B) ufczarsq
(C) uaH
(D) rEE
(B) T
= feu mu fasredi O 9 WE SO F 994 FIfGU
(1) e (A) IR (B)
(

) e (C) 3R (D)
(3) ad (A), (B) R (C)
(4) kel (B) 3R (B)

Options :

878270106617. 1



878270106618. 2
878270106619. 3

878270106620. 4

Question Number : 96 Question Id : 87827027036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the uses of dutiya vibhatti :
(A) Buddhar vande

(B) Bhagava bhikkhu etadavoca
(C) Amantayami vo bhikkhave
(D) Nalandayam viharati

(E) Cittani caranti

Choose the correct answer from the options given below :
(1) (A) Only

(2) (A), (B) and (C) Only

(3) (B) and (C) Only

(4) (D) and (E) Only

Options :
878270106621. 1
878270106622. 2

878270106623. 3

878270106624. 4

Question Number : 96 Question Id : 87827027036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



g favfa < wam 1 w29
(&) FEER
(B) e fuerg UreaE
(C) e a1 faaad
} _

(D) o< feretfd

() Tamnfq ==f<

9 feu 7 fawedi d © W SO 1 994 HIT9T
(1) ae (A)

(2) = (A), (B) ¥R (C)

(3) kel (B) AR (C)

(4) e (D) TR (E)

Options:

878270106621. 1
878270106622. 2
878270106623. 3
878270106624. 4

Question Number : 97 Question Id : 87827027037 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tatrime pariajika dhamma
(A) Viparinatena cittena matugamarn dutthullahi vacahi obhaseyya
(B) Adinnam theyyasarikhatarh adiyeyya
(C) Manussaviggaharh jivita voropeyya
(D) Anabhijjinam uttarimanussadhammam samudacareyya
(E) Matugamena saddhirh kimasamsaggam samapajjeyya
Choose the correct answer from the options given below :
(1) (B), (C) and (D) Only

(2) (A), (B) and (E) Only

(3) (B), (D) and (E) Only

4) (A), (B), (C) and (D) Only

Options :

878270106625. 1

:No



878270106626. 2
878270106627. 3

878270106628. 4

Question Number : 97 Question Id : 87827027037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

GIEERRUGEIR

(A) foufto femm Hg ggeene sTeife v
(B) sife= FadgE s

(C) wEfanTE Sifadr aRu=

(D) SHMYSH IARTTRY FE=E

(E) WIqEA 9fg hmEg] garieiA

ﬂaﬁqmﬁwﬂﬁﬁﬂﬁﬂaﬂwm
(1) e (B), (C) 3R (D)

(2) e (4 };{B)S?F{{E)

(3) ad (B), (D) 3K (E)

(4) Fa (A), (B), (C) (D)

Options :

878270106625. 1
878270106626. 2
878270106627. 3
878270106628. 4

Question Number : 98 Question Id : 87827027038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Ime pacittiyi dhamma

(A) Sampajanamusaviade

(B) Omasavade

(C) Bhikkhupesuiiiie

(D) Yo Bhikkhu anupasampannarih padaso dhammarh vaceyya
(E) Yo Bhikkhu pathavim khaneyya

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

() (B), (C) and (D) Only

(3) (C), (D) and (E) Only

4) (A), (B), (C), (D) and (E) Only

Options :

878270106629. 1

878270106630. 2

878270106631. 3

878270106632. 4

Question Number : 98 Question Id : 87827027038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

EﬁqTﬁa"ﬁ'l'ﬂT*ﬁIﬂ:

(A) TESHHHETS

(B) AHgaTe

(C) ForrgTg==

) 2 Tueg ST TS o g
(B) =1 g vofd @ors

(1) e (A), (B) &R (C)
) & (B), (C) 3R (D)
(3) dad (C), (D) &R (E)
4) (A), (B), (O), (D) ¥R (E)

Options :



878270106629. 1
878270106630. 2
878270106631. 3

878270106632. 4

Question Number : 99 Question Id : 87827027039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
[mehi angehi samnnigatari tajjaniyakammar adhammakammarica hoti, avinayakammaica.
(A) asammukhi katam hoti
(B) appatipuccha katarh hoti
(C) appatinfiaya katam hoti
(D) codetvi katarh hoti

(E) saretva katarh hoti

Choose the correct answer from the options given below :
(1) (A) Only

(2) (A) and (B) Only

(3) (A), (B) and (C) Only

(4) (D) and (E) Only

Options :

878270106633. 1
878270106634. 2
878270106635. 3

878270106636. 4

Question Number : 99 Question Id : 87827027039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



(A) STITHET Fd
(B) rwfey=ar +d 2fd
() srfesem & Bifd
(D) <l d Bifd

(E) W &d 2

= fou mu fowedi § | e I 1 T wifC
(1) <haE (A)

(2) <k (A) 3R (B)
(3) I (A), (B) ¥R (O)
(4) 9 (D) 4R (E)
Options :

878270106633. 1
878270106634. 2
878270106635. 3
878270106636. 4

Question Number : 100 Question Id : 87827027040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The first two Sutta-s of the Nidinasaryutta of Nidinavagga of the Samyuttanikiya are :

(A) Patipadasuttar

(B) Vipassisuttam
(
(D) Sikhisuttam
(E)
Choose the correct answer from the options given below :
(1) (A) and (B) Only

)

) Paticcasamuppadasuttam

Vibhangasuttarm

)
(2) (B) and (C) Only
(3) (D) and (E) Only
(4) (C)and (E) Only

Options :



878270106637. 1
878270106638. 2
878270106639. 3

878270106640. 4

Question Number : 100 Question Id : 87827027040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Safend o fieme T & feAEga F 9am A ga & ¢
(A) ufeder

(B) o

(C) fesTagwRyT

(D) feErg

(B) fasimgd

1) dhad (A) 3 (B)

)

Ez hael (B) 3R (C)
(3) o (D) ¥R (E)
(4) e (C) 3R (E)
Options :

878270106637. 1
878270106638. 2
878270106639. 3

878270106640. 4

Question Number : 101 Question Id : 87827027041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following two are mentioned in Kitadanta sutta :
(A) Story of Mahavijita

(B) Story of Suppiyaribbijaka

(C) Sixty two false views

(D) Sixteen Parikkhira

(E) Dhammanupassana

Choose the correct answer from the options given below :
(1) (A) and (C) Only

(2) (B) and (E) Only

(3) (A) and (D) Only

(4) (B) and (C) Only

Options:
878270106641. 1
878270106642. 2

878270106643. 3
878270106644. 4

Question Number : 101 Question Id : 87827027041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafea § @ fF < &1 ==l Fegagu A I | T

(A) Werfafsd st s

(B) gftra Uiisarsieh i el

(C) =we fqemrfe

(D) Hrete UfiEar

(E)  SeTo&sT

= fou mu fawed! § 9 WE IWT 1 T FifIC
(1) e (A) 3R (C)

(2) e (B) 31 (E)

(3) Hdd (A) F (D)

(4) e (B) R (Q)

Options :



878270106641. 1
878270106642. 2
878270106643. 3

878270106644. 4

Question Number : 102 Question Id : 87827027042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following two are related to Suttapitaka ?
(A) Vohara-desana
(B) Yathaparadhasasanar
(C) Sarmvara - asamvarakatha
(D) Ditthi - vinivethanakatha
(E) Namarupapariccheda - Katha
Choose the correct answer from the options given below :

(1) (A) and (B) Only

(3) (B) and (C) Only

4) (C) and (D) Only
Options :

878270106645. 1
878270106646. 2
878270106647. 3

878270106648. 4

Question Number : 102 Question Id : 87827027042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



fefafad § 9 ®H - 31 gafues § qefq 87
(A) FRRE - S5

(B)  AUTIIEHTEA

(C) Hel - TR

(D) fefs faf@aTn

(E) &Y =g - &l

== feu o fasredi § 9 W& 9 1 T3 R

(1) el (A) 3R (B)
(2) ke (A) 3R (D)
(3) 9 (B) R (C)
(4) e (C) iR (D)
Options:

878270106645. 1
878270106646. 2
878270106647. 3

878270106648. 4

Question Number : 103 Question Id : 87827027043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The two characters of Vanarinda jataka are :
(A) Tortoise
(B) Elephant
(C) Monkey
(D) Crane
(E) Crocodile
Choose the correct answer from the options given below :
(1) (C) and (E) Only
(2) (A) and (B) Only
(3) (D) and (E) Only
(4) (A) and (E) Only

Options :



878270106649. 1
878270106650. 2
878270106651. 3

878270106652. 4

Question Number : 103 Question Id : 87827027043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SIS Sk h Sl U §
(A) HgsT

(B) el

€)

(D) =T

(E) ¥RT=S

= feu e fawedi # 9 wWé 391 1 =99 Fifa
W{L} {)
e (A) 9 (B)
3) W{D}ﬁr{{ﬁ)
4) 99 (A) 3R (E)

Options :

878270106649. 1
878270106650. 2
878270106651. 3

878270106652. 4

Question Number : 104 Question Id : 87827027044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



To whom the Maira does not put in trouble :

(A) Subhanupassim viharantam

(B) Asubhanupassim viharantar

(C) Indriyesu asamvutam

(D) Indriyesu susarmvutarh

(E) Araddhaviriyam

Choose the correct answer from the options given below :
(1) (A), (D) and (E) Only

(2) (A), (C) and (E) Only

(3) (B), (D) and (E) Only
(4) (B) and (C) Only
Options:

878270106653. 1
878270106654. 2
878270106655. 3
878270106656. 4

Question Number : 104 Question Id : 87827027044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

R fegent T & i € ?
(A) FurguRH fagt=

(B) rgwigued fost
(C) sf=ayg srHqd

(D) sf=aYg god

(E) sRgfaid

== fou e fasked! § & W& 39 1 994 60
(1) 9 (A), (D) 3R (E)

(2) s (A), (C) 3R (E)

(3) e (B), (D) IR (B)

(4) %9 (B) 3R (O

Options :



878270106653. 1
878270106654. 2
878270106655. 3

878270106656. 4

Question Number : 105 Question Id : 87827027045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
The nature of the consciousness is :
(A) Phandanam
(B) Capalam
(C) Santari
(D) Durakkarn
(E) Dunnivarayam
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (C) and (D) Only
(3) (A), (©), (D) and (E) Only
4) (A), (B), (D) and (E) Only

Options :

878270106657. 1
878270106658. 2
878270106659. 3

878270106660. 4

Question Number : 105 Question Id : 87827027045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



EREIECEICRS
(A) T
(B) =
€) @«
(D) T

(E) gfamA
== feu o fasredi § 9 W& 9 1 T3 R

(1) = (A), (B) ¥R (C)
(2) e (B), (C) ¥ (D)
(3) e (A), (O), (D) ¥R (E)
4) ad (A), (B), (D) 3R (E)
Options:

878270106657. 1
878270106658. 2
878270106659. 3
878270106660. 4

Question Number : 106 Question Id : 87827027046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The Dharmas that are called “Unconditioned’.
(A) Sappaccaya

(B) Sankhata

(C) Accantam

(D) Sanidassani

(E) Padarm

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (C) and (E) Only

(4) (A) and (E) Only

Options :



878270106661. 1
878270106662. 2
878270106663. 3

878270106664. 4

Question Number : 106 Question Id : 87827027046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
o el o srERa’ e W€
(A) HE==T
(B) Hgd
(C) sr=a
(D) A=
() &
= fou mu fasedi § 9 W& 39 & =TI Hifaa

(1) el (A) 3R (B)

(2) e (B) 3 (Q)

(3) dhad (Q) \ﬂ'T{{E)

(4) w99 (A) 3R (E)

Options :

878270106661. 1
878270106662. 2
878270106663. 3

878270106664. 4

Question Number : 107 Question Id : 87827027047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Choose the correct options.

(A) Chanda is present in 69 types of consciousness.

(B) Chanda is not present in the 18 types of Ahetuka citta.
(C) Chanda is not present in twenty types of consciousness.
(D) Chanda is present in Mohamaulaka citta.

(E) Chanda is present in all 89 types of consciouness.
Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (A) and (D) Only

(3) (A), (B) and (C) Only

4) (A), (C) and (D) Only

Options :

878270106665. 1

878270106666. 2

878270106667. 3

878270106668. 4

Question Number : 107 Question Id : 87827027047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(A) B<69TFR & ol & wry sufeera 2 ¥
(B) ®<18 UHR * egs fa<i & Ty Iufera 72 &ar &1
(C) =< 20 ¥R * foeil % |y sufed =& &rar €1
) B Heqe fadl % e St S g

() B=89THR & fadl % ary 3ufterd g 71
1= fou U foreredi § | W& I H1 = R ;
(1) ad (A) 3R (B)

(2) W{ ) and (D)

(3) (A), (B) ¥R (C)

) ar.ﬁ (4), (©) ¥’ (D)

Options :



878270106665. 1
878270106666. 2
878270106667. 3

878270106668. 4

Question Number : 108 Question Id : 87827027048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Ko patisandahati ?
(A) Sakkileso
(B) Nikkileso
(C) Sa-upadino
(D) Anupadano
(E) Nibbuto
Choose the correct answer from the options given below :
(1) (A) Only
(2) (A) and (C) Only
(3) (A), (C) and (E) Only
(4) (B), (D) and (E) Only
Options:
878270106669. 1
878270106670. 2
878270106671. 3

878270106672. 4

Question Number : 108 Question Id : 87827027048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



%1 el ?
(A) Ffgererdl
(B) Frfererd
(C) G3UEH

(D) SAqHIEH!

(B) fsgr
== feu o fasredi § 9 W& 9 1 T3 R

(1) e (A)

(2) e (A) &R (C)
(3) A (A), (C) R (E)
(4) 9 (B), (D) 3R (E)

Options:

878270106669. 1
878270106670. 2
878270106671. 3

878270106672. 4

Question Number : 109 Question Id : 87827027049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Among the following who become upasaka in the Buddha Dharma.
(A) Anantakaya

(B) Sabbadinna

(C) Devamant

(D) Mankura

(E) Milinda

Choose the correct answer from the options given below :
(1) (A) Only

(2) (A) and (E) Only

(3) (A), (B) and (C) Only

(4) (E)Only

Options :



878270106673. 1
878270106674. 2
878270106675. 3

878270106676. 4

Question Number : 109 Question Id : 87827027049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
$H 9 ®F dlg g § U &9 T ?
(A) SAd+ME
(B) HedfaH
(C) <enf
(D) g
(E) Tafer=
+re fau T faeredl | | W&t I H T I
(1) FEE (A)
(2) FEd (A) $R(E)
(3) Fa@ (A), (B) R (O)
(4) =4 (E)

Options :

878270106673. 1
878270106674. 2
878270106675. 3

878270106676. 4

Question Number : 110 Question Id : 87827027050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



‘Sila’ 1s used in the sense of “discipline’. It means either :
(A) Samadhana

(B) Pajanana

(C) Vikkhepa

(D) Upadharana

(E) Viddhamsana

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (A) and (C) Only

(3) (A) and (E) Only

(4) (A) and (D) Only
Options :

878270106677. 1
878270106678. 2
878270106679. 3

878270106680. 4

Question Number : 110 Question Id : 87827027050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
‘e’ o e’ 3w H e o T
(A) HHTHH
(B) U
(C) fasram
(D) SYHRT
() fagad
= fou 7o fawredi § 9 Wer 39 %1 994 Hifae
(1

)
)
3)
)

Options :



878270106677. 1
878270106678. 2
878270106679. 3

878270106680. 4

Question Number : 111 Question Id : 87827027051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
‘Tisso Sikkha" means :
(A) Adhisila
(B) Adhicitta
(C) Adhigama
(D) Adhipaiiiia
(E) Adhimokkha
Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

(2) (A), (B) and (C) Only

(3) (A), (B) and (E) Only

(4 (A), (B) and (C) Only
Options :

878270106681. 1
878270106682. 2
878270106683. 3

878270106684. 4

Question Number : 111 Question Id : 87827027051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



oy faamar’ =1 2199 2
(A) AfHET=

(B) fufaa

(C) =t

(D) arfygest

(E) sfysiaa

== feu o fasredi § 9 W& 9 1 T3 R
(1) =ad (A), (B) 3R (D)
(2) @ad (A), (B) 3R (C)
(3) I (A), (B) 3R (B)
(4) ad (A), (B) 3R (C)
Options:

878270106681. 1
878270106682. 2
878270106683. 3
878270106684. 4

Question Number : 112 Question Id : 87827027052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
‘Sapaiiiio’ is one, who by birth, is associated with “tihetuka’.
(A) Alobha
(B) Lobha
(C) Adosa
(D) Dosa
(E) Amoha
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
) (A), (C) and (E) Only
(3)  (A), (€) and (D) Only
(4) (A), (B) and (E) Only

Options :



878270106685. 1
878270106686. 2
878270106687. 3

878270106688. 4

Question Number : 112 Question Id : 87827027052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘HUsel' gE R, Sl T A T PRy A wmEgw €

(A) Ty

(B) @i

(C) o=

(D) =™

(E) &HE

= feu e fawmedi § 9 wWé 391 1 =99 Fifa
(1) ad (A), (B) 3R (C)
(2) @FaEA (A), (C) 3R (E)
(3) A (A), (C) ¥R (D)
(4) &9 (A), (B) 3R (E)
Options :

878270106685. 1
878270106686. 2
878270106687. 3

878270106688. 4

Question Number : 113 Question Id : 87827027053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which two of the following texts bears the name of a single text ?
(A) Dathavarisa

(B) Cualavarmsa

(C) Mahabodhivamsa

(D) Dantadhatuvarnsa

(E) Samgitivarsa

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (D) and (E) Only

(4) (A) and (D) Only

Options:
878270106689. 1
878270106690. 2

878270106691. 3

878270106692. 4

Question Number : 113 Question Id : 87827027053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fefafEa d S-S T TS & U9 & 71 § 2

(A) <IekHH

(B) Fe&H

(C) weEIfEy

(D) =<gSH

(B) wifaas

== fou e fasked! § & W& 39 1 994 60
(1) el (A) 3R (B)

(2) e (B) R (Q)

(3) el (D) ¥R (E)

(4) Had (A) 3R (D)

Options :



878270106689. 1
878270106690. 2
878270106691. 3

878270106692. 4

Question Number : 114 Question Id : 87827027054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following two are constituents of the Paticcasamuppada ?
(A) Thinamiddha
(B) Vinnana
(C) Chanda
(D) Passaddhi
(E) Jat
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (C) and (D) Only
(3) (B) and (E) Only
(4) (C) and (E) Only

Options :
878270106693. 1
878270106694. 2

878270106695. 3

878270106696. 4

Question Number : 114 Question Id : 87827027054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



¥ 3 A= TIoIg & 9§ —

(A) s

(B) fersemm

€ ®=

(D) uHfg

(B) ifd

== feu o fasredi § 9 W& 9 1 T3 R
(1) e (A) 3T (B)

(2) ke (C) 3T (D)

(3) el (B) 3iR (B)

(4) 9 (C) R ()

Options:

878270106693. 1
878270106694. 2
878270106695. 3

878270106696. 4

Question Number : 115 Question Id : 87827027055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which one of the following is commonly found in both Iddhipada and Bojjhanga ?
(A) Dhamma
(B) Vedana

Viriyo

Saddha

Citta

Choose the correct answer from the options given below :

— e —
B30

(1) (A) and (C) Only
(2) (B) and (D) Only
(3) (E) Only
(4) (C) Only



878270106697. 1
878270106698. 2
878270106699. 3

878270106700. 4

Question Number : 115 Question Id : 87827027055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
frefafad § 9 &Mt sigur S disg el H foemE ®d €7
(A) ™
(B) @
(€) fafa
(D) Ha&l
(B) fua
9 fou o fasedi & | W& IO &1 T Fif
Fad (A) 3 (C)
Fad (B) ¥R (D)
3) had (E)
4) FFd (Q

Options :

878270106697. 1
878270106698. 2
878270106699. 3

878270106700. 4

Question Number : 116 Question Id : 87827027056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(A) Dighanikaya (I) Ariyapariyesanasutta
(B) Majjhimanikaya (I) Mahaparinibbanasutta
(C) Jataka (II) Nidanakatha
(D) Samantapasadika (IV) Bahirakatha

Choose the correct answer from the options given below :
(1) (A, (B)-(1), (C)-1V), (D)-(II)
(2) ( A)-(10), (B)-(D), (©)-(1), (D)-(1V)
{3} (A)-(1), (B)-(II), (C)-(II), (D)-(IV)
@) (A1), B)-@), (O)-IV), (D)-(I)
Options :
878270106701. 1
878270106702. 2
878270106703. 3

878270106704. 4

Question Number : 116 Question Id : 87827027056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Teil-1 3 G-I =1 faem wifs

geil-1 Geit-11
(A) <R () STy
(B) wiczmiTrME (I Femfif =g
(C) = (1) fereRen
(D) HH=ATHIGH (IV) =eteRe

e fau T fosredi § | WE SO F F94 S
(1) (A1), (B)-(D), (O)-(1V), (D)-(ILI)
2) (A1), (B)-(D), (O)-(I1), (D)-(IV)
(3) (A) -(), (B)-(I1L), (C)-(1D), (D)~(IV)
)  (A)MD), (B)-(L), (C)-1V), (D)-(I)

Options :



878270106701. 1
878270106702. 2
878270106703. 3

878270106704. 4

Question Number : 117 Question Id : 87827027057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I (Word) List - II (Case ending)
(A) wubho (I) Chatthi
(B) tissamn (Il) Catutthi
(C) assaya (IIT) Sattami
(D) gavasma (IV) Dutiya
Choose the correct answer from the options given below :
(1) (AMIV), (B)-(D), (C)-(IIL), (D)-(1I)
(2) { A)-(10), {B {W {C) (11D), (D)D)
(3) (A1), (B)-(1I), (O)-(11I), {D} (IV)
1) (A1), {B)-{HI , (©)-1), (D)-(1)
Options:

878270106705. 1
878270106706. 2
878270106707. 3

878270106708. 4

Question Number : 117 Question Id : 87827027057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teil-1 3 G- =1 e wifs

Teit-1 geEit-11

e faufa
(A) =+ n =g
(B) foreH (I =eeet
(C) 3IHHE (II1) HHT
(D) TmerE (IV) gferm

ﬂ%ﬁqmﬁwﬁﬁﬁuﬁwmwﬁﬁq:
(1) (A)IV), (B)-(I), (C)-(IIL), (D)-(1I)

(2) (A1), (B)-(V), (O)-(I), (D)-(I)

(’%) (A)-(D), (B)-(II), (C)-(I1D), (D)-(IV)

)  (A)IV), (B)-(IIT), (C)-(II), (D)-(I)
Options:

878270106705. 1

878270106706. 2

878270106707. 3

878270106708. 4

Question Number : 118 Question Id : 87827027058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II
Foremost female lay followers of the Buddha Names of the Houeholds
(A) Among the donors (Diyika) () Simavati
(B) Among learned (Bahussuttinar) (I)  Visikha Migaramata
(C) Among those who dwell in loving kindness () Sujata Senanidhita
(Mettivihirinarm)
(D) Among the meditators (IV) Khujjatara

Choose the correct answer from the options given below :

(1) (A0, B)-), (CH(I), (D)-(W}

@ (A-O, B0 © (Iv IH)
6) (A, BHIV), (CH0), DHI)
@AM, B-0) m )am

Options :

878270106709. 1
878270106710. 2
878270106711. 3
878270106712. 4

Question Number : 118 Question Id : 87827027058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



a1 4 geit-1l & e it .

eI -1

TG i T A Higen Teed I Eah e JUTTRT o W
(A) THFH @ H () (I) wmmEfd
(B) wggd H (FEEAA) (1) e femomn
(C) fi-forr w7 ol § (FfaE) (1) G ST
(D) &F F T | (V) G
T fou o fosedi § @ Wet I 1 9 S0

(1) (A)-@), (B)-(I), (C)-(II), (D)-(IV)
@ (A )-(I), (C)-(IV), (D)-(III

) (A)-I), (B )
(?) (A, (B)-(1V), (C)-(), (D)-(11)
@) (AR, B)-IV), (C-(I), (D)-(I)
Options:
878270106709. 1
878270106710. 2
878270106711. 3

878270106712. 4

Question Number : 119 Question Id : 87827027059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(A) Cakkhu (I) Gandha
(B) Sota (II) Rasa
(C) Ghana (IIT) Rapa
(D) Jihva (IV) Sadda

Choose the correct answer from the options given below :
{'1) (A)-(1L), (B)-(10), (©)-(), (D)-(1V)
(2) (A} (HD), (B)-(IV), (©)-(1), (D)-(11)
() (A0, (B)-1D), (©)-(), (D)-(1V)
) (B)- )

@) (A)-(IV), (B)-(III), (C)-(1I), (D)~(I



Options :

878270106713. 1
878270106714. 2
878270106715. 3

878270106716. 4

Question Number : 119 Question Id : 87827027059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

geit-1 9 geit-11 =1 foem #ifs .

Tell-1 -1
(A) =9 (H T
(B) Hrd (I ™
(C) =M (1) &9
(D) forman (IV) ¥

e feu v fawedi d 9 |E IHL 1 99 Hifo
(1) (A)-I), (B)-(ID), (C)-(I), (D)-(IV)

(2)  (A)-(), (B)-(IV), (C)-(T), (D)-(1I)

@) (A1), (B)-(II), (CO)-(I1L), (D)-(IV)

@) (A)-V), B)-(m), (©-(W), (D)-(1)
Options:

878270106713. 1
878270106714. 2
878270106715. 3

878270106716. 4

Question Number : 120 Question Id : 87827027060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(A) Saddha (I) 1sa
(B) Tapo (I) Bijam
(C) Hiri (II) Yottam
(D) Mano (IV) Vutthi

Choose the correct answer from the options given below :
(1) (AN, (B)-(I), (C)-(IV), (D)-(Il)
(2) ( A)-(ID), (B)-(IV), (©)-(D), (D)-(I1])
{3} (A)-(ID), (B)~(IV), (C)-(II), (D)-(T)
@) (A)NIV), (B)-0D), (©)-(1), (D)-(L)
Options :
878270106717.1
878270106718. 2
878270106719. 3

878270106720. 4

Question Number : 120 Question Id : 87827027060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Teil-1 3 G-I =1 faem wifs

geil-1 gEt-11
(A) Ha @O =
(B) a9t IOECIE
) feR (II1) =
(D) = @) 9fg

e fau T fosredi § | WE SO F F94 S
(1) (A1), (B)-(1D), (O)-(1V), (D)-(ILI)
{2) (A)-(IT), (B)-(IV), (©)-(I), (D)-~(ILT)
(3) ( )-(I), (B)-(IV), (C)~(IL), (D)~(I)
@)  (A)-IV), (B)-(I), (Q)-(D), (D)-(ILI)

Options :



878270106717. 1
878270106718. 2
878270106719. 3

878270106720. 4

Question Number : 121 Question Id : 87827027061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - 11
Feeling [in Consciousness] Number
(A) Somanassa (Lokiya) D @2
(B) Domanassa (Lokiya) (I)y 30
(C) Upekkha (Lokuttara) (III) 01
(D) Sukha (Lokiya) (IV) 08

Choose the correct answer from the options given below :
(1) (A)(D), (B)-(L), (C)-(I), (D)-(1V)

(2) (A1), (B)-(1), (C)-1V), (D)-(I)

(3) (1) (LI), (B)-(IV), (C)-(11), (D)-(D)

4)  (A)IV), (B)-(LD), (C)-(D), (D)-(ID)

Options :

878270106721. 1

878270106722. 2

878270106723. 3

878270106724. 4

Question Number : 121 Question Id : 87827027061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teil-1 3 G- =1 e wifs

Tell-1 -1

e (faw #) Hem
(A) T (elfRa) @M 02
(B) TMTEE (wife) @ 30
(C) UFE (SiFw) I 01
(D) H@ (i) (IV) 08

= fou 7o foredi o ¥ Wé ¥R &1 =9H Sifa .
(1) (A, B)-(1), (©)-1I), (D)-(IV)
(2) (A1), (B)-(1), (©-IV), (D))
(’%} (A)-(IIL), (B)-(1V), (C)-(II), (D)-(T)
@) (A)IV), (B)-(III), (C)-(T), (D)-(II)
Options:
878270106721. 1
878270106722. 2
878270106723. 3

878270106724. 4

Question Number : 122 Question Id : 87827027062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - IL.

List - I List - 11
Name Statement
(A) Ayupala () natthi, kusalikusalini kammani, natthi sukatadukkatinam kamménarh
phalam vipiko

(B) Makkhali Gosila (II) Dhammacariyasamacariyatth....pabbajj, simafiiaphalam
paramattho

(C) Piirana Kassapa (II) Pathavi lokam paleti

(D) Assagutta (IV) Ekena kandappaharena dve mahakaya padalita'ti

Choose the correct answer from the options given below :

1) (A-0), B)-() CHI), OHIV)

2 (A) (1), (B-(ID), (CHIL), DM1V)

() (AXV), (8-, (-1, (DAY

@) (AR, (B)-{), CKIL), OHIV)

Options :

878270106725. 1

878270106726. 2

878270106727. 3

878270106728. 4

Question Number : 122 Question Id : 87827027062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tl 9 G-Il 1 e i

8 eIl
T FI
(A) T () fey, FHCTHEA FHA e Ghagrer M Pl (90
(B) wEfd M () oeafEaeaae. .. Tas, Qe T
(C) T (I1T) Werelt @k Tt
(D) A (V) T OSSR 5 Wk weferd fa
i fou mu foemed! § @ WE S F T P
(1) (A)-D, {B) (IH) (O-(ID, (DHLV)
@) (A1), B}, ©)-0), D)HIV)
@) (AHIV), ( ( , (O-(I), D))
@ (A1, B)-0, -1, DKIV)
Options :

878270106725. 1
878270106726. 2
878270106727. 3
878270106728. 4

Question Number : 123 Question Id : 87827027063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II

(A) Akusali Dhamma (I)  Sukhasahagati Dhammi

(B) Abyakata Dhamma (I)  Sarklittha-sankilesiki Dhamma

(C) Sukhiya Vedaniya Sampayutta () Neva Acayagiaminapacayagamino Dhamma
Dhamma

(D) Adukkhamasukhaya vedaniya (IV) Upekkhasahagati Dhamma

sampayutti Dhamma
Choose the correct answer from the options given below

(1) (A}, (B)-(IH) (C)-(1), (DHIV)

@ (AR, B)-(IW, ©)-(m), (DHIV)
@) (AHIV), B)-(Im), (©-(), @0
() (A, B}, ©)-[), O-IV)

Options :

878270106729. 1
878270106730. 2
878270106731. 3
878270106732. 4

Question Number : 123 Question Id : 87827027063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

geit-1 9 geit-11 %1 e #ifs
eil-1 geit-11
(A) STHH 7= () HEUeTd 9=
(B) ARl HFH (1) Hferg-gfeafaa v
(C) @™ T HoP ¥ () <9 STERMIAATT=ETIEA] e
(D) SICFRIAGEM ATF FHAA B (IV) SUREEETal g
e fou 7 foredl § 9 TWE SO H T4 HIfC

(1) (A0, B)-(I), ([©)-1), (D)-1V)
(2) (A)-(0), (B)-(1), (C)-(II), (D) (W)
(3) (ﬂ} -(IV), (B)-(11), (©)-(11), (D)-(1)
) )

(4)  (A)-I), (B)-1), (©)-1), (D )(1



Options :

878270106729. 1
878270106730. 2
878270106731. 3
878270106732. 4

Question Number : 124 Question Id : 87827027064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - 11
(A) Jinabodhivali () Kassapa Bhikshu
(B) Aniagatavamsa ()  Devarakkhitajayabahu dhammakitti
(C) Saddhammopiyana () Thera Ratanapaiiia
(D) Jinakalamalini (IV) Sthavira Ananda

Choose the correct answer from the options given below :

(1) (A, B)-D), (O-IV), (D)-(I)

(2) ( A)-(D), (B)-(1V), (O)-(I1I), (D)-(ID)
(3)  (A)-IV), (B)-(II), {C} (II) (D)-(D)
4) (A)-(II), (B)-(1I), ), (D)-(IV)
Options :

878270106733. 1
878270106734. 2
878270106735. 3

878270106736. 4

Question Number : 124 Question Id : 87827027064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teil-1 3 G- =1 e wifs

gell-1 -1
INIREEEICIESI (I)  =eE T4y
(B) SFITASH (I) <aframsag gt
(C) HEHTIEA (I) 9 @A
(D) TSRt (IV) =feR 3

e fau T fosredi § | WE SO F F94 S
1) (A) (H (B)-(). (©)-(1V), (D)-(I11)
{2) (A)-(D), (B)-(IV), (C)-(1L), (D)~(LI)
(3) {A) V), (B)-(1), (C)-(1D), (D)-(1)
4)  (A)-(), (B)-(ID), (©)-1), (D)-(IV)
Options:
878270106733. 1
878270106734. 2
878270106735. 3

878270106736. 4

Question Number : 125 Question Id : 87827027065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II

(A) Avija (I) Magganga
(B) Chanda (I) Bojjhanga
(C) Passaddhi (IT) Iddhipada
(D) Samadhi (IV) Nivarana
Choose the correct answer from the options given below :
(1) (A1), (B)}-(V), (O-II), (D)-(II)
(2) ( A)-(10), (B)-(D), (C) (IV (D)-(I1D)
{3} (A)-(I), (B)-(1D), ( {D -1V)

@) (A1), (B)-(IL1), {C {H) D)-(1)

Options :



878270106737. 1
878270106738. 2
878270106739. 3

878270106740. 4

Question Number : 125 Question Id : 87827027065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

geit-1 9 Weit-11 1 faem wifs

Geil-1 G-I
(A) ferss (Iy I
(B) ®=< 1) =g
(C) wHfg (1) sfgug
(D) =AY (V) HET
ﬁ%ﬁqwﬁﬁﬁﬁﬁnﬁmaﬂw#ﬁq;
1) (A)-(D), (B)-(IV), (C)-(I1I), (D)~(II)
(2) ){II} {B) @, (©)-1V), (D)-(I1)
(3) {A)-{HI}; (B)-(II), (O)-(1), (D)-(IV)
4) (A)IV), (B)-(II), (C)-(1), (D)-(I)
Options :

878270106737. 1
878270106738. 2
878270106739. 3

878270106740. 4

Question Number : 126 Question Id : 87827027066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following books as per the orders of Khuddakanikaya :
(A) Dhammapada

(B) Suttanipata

(C) Khuddakapatha

(D) Jataka

(E) Therigatha

Choose the correct answer from the options given below :
1) (&) (B), (D), (©) (E)

@) (©) (A), (B), (E) (D

@) (©) (A) E), B) fD}

@) (A) (B), ©) (E), (D)

Options:

878270106741. 1
878270106742. 2
878270106743. 3

878270106744. 4

Question Number : 126 Question Id : 87827027066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TewHE & ER Fefafaa o0 =1 w0 9 et &1
(A) S
(B) FrTTd
(C) He=Te
(D) <=
(E)  efimen
e feu 7o fasedi d 9 |E SO 1 99 Fif9
(1) (A), (B). (D), (C), (E)
2) (©), (A), (B), (E), (D)
(3) Q) (A), (E), (B), (D)
) AR

Options :

878270106741. 1



878270106742. 2
878270106743. 3

878270106744. 4

Question Number : 127 Question Id : 87827027067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Chronologically arrange the texts of Pali Vyakarana.
(A) Saddaniti
(B) Gandhabharana
(C) Kaccayana-vannani
(D) Saddasaratthajalini
(E) Ruopasiddhi
Choose the correct answer from the options given below :
(1) (B), (D), (E), (A) and (C)
(A), (E), (D), (B) and (C)
)

)
) (B), (B), (D), (A) and (C)
) (A), (B), (O), (D) and (E)

Options :
878270106745. 1
878270106746. 2

878270106747. 3
878270106748. 4

Question Number : 127 Question Id : 87827027067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tifel SR o T ki HTATIRH & STTIR SFAEd Y
(A) Wedifd

(B)  TRETHITT

(C) H=AIA-dUUl

(D) EEESITe

(E) wuiHfg

e feu v fawedi d 9 |E IHL 1 99 Hifo

(1) (B), (D). (E), (A), (C}

(2) (A) (E), (D), (B), (
(@) (B), (E), (D), (A), (Q
4) (A), (B), (O), (D), (E)
Options:

878270106745. 1
878270106746. 2
878270106747. 3

878270106748. 4

Question Number : 128 Question Id : 87827027068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the chapters of the Cullavagga of Vinaya Pitaka in order.
(A) Parivasikakhandhaka

(B) Samuccayakkhandhaka

(C) Kammakkhandhaka

(D) Khuddakavatthukkhandhaka

(E) Samathakkhandhaka

Choose the correct answer from the options given below :
1) (&) (B), (CL (E), (D)

@) (©) (A), (B), (E), (D)

(3) (D), (B) C}: (E), (A)

@) (B, (B), (A), (D), (O

Options :

878270106749. 1



878270106750. 2
878270106751. 3

878270106752. 4

Question Number : 128 Question Id : 87827027068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
foa-fueeh & Heera™ & A9ME] 1 396 h9 H HaEqd hl —
(A) ufEfasEys
{B} Hey = dHd+<h
(C) HFIHh
(D) GRRIYFEH
(E) HHYHRIHH
e feu 7o fasedi o 9 WE SHT & =IA Fifo
(1) (A), (B), (©), (E), (D)

2)  (©), (A), (B), (E), (D)
(3) (D), (B), (C), (E), ( }
4) (B) (B), (A) (D), (C

Options :

878270106749. 1
878270106750. 2
878270106751. 3

878270106752. 4

Question Number : 129 Question Id : 87827027069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The correct sequencing of previous Buddha-s is :

(A) Vipassi

(B) Vessabhu

(C) Sikhi

(D) Konagamana

(E) Kakusandha

Choose the correct answer from the options given below :
1) (&) ©Q) (B) (E) (D)

(2)  (A), (B), (O, (D), (E)

() (B), (A), (D), (Q), (E)
) (©), (B), (A), (D), (E)
Options :

878270106753. 1
878270106754. 2
878270106755. 3

878270106756. 4

Question Number : 129 Question Id : 87827027069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ISF P F IR H TG FI

(A) oo

(B) =Y

(C) Ta@Et

(D)  HIOMTHA

E) FFa
ﬁﬁqwﬁﬁﬁﬁ@nﬁwwwaﬁm:
1) (A), {C )(E

() (A) (B), (O ( )
(3) (B) (A), (D), {C , (E)
4)  (©) (B), (A), (D), (E)

Options :



878270106753. 1
878270106754. 2
878270106755. 3

878270106756. 4

Question Number : 130 Question Id : 87827027070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
According to Theravada the chronology of first five paramiti-s is :
(A) Dina
(B) Panna
(C) Sila
(D) Viriya
(E) Nekkhamma
Choose the correct answer from the options given below :
1) (B), (D), (A), (), (O
(2)  (A) B) (©) (D), (E)
() (A) Q) (B), (B), (D)
#)  (©), (B), (A), (E), (D)
Options:
878270106757. 1
878270106758. 2
878270106759. 3

878270106760. 4

Question Number : 130 Question Id : 87827027070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



IETE % STTAR YW Ui qRfAarst = %9 ¥
(A) =H

(B) el

(€) Ha

(D) faf

(E) Hwg™
ﬁﬁqmﬁ%ﬁﬁ@nﬁwwwm:
(1) (B), (D), (A), (E)

2)  (A), {B (©) ( )
(3) {AL ) (E), (B)
@) (©) (B), (A), (E),
Options:

878270106757. 1
878270106758. 2
878270106759. 3

878270106760. 4

Question Number : 131 Question Id : 87827027071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the paccaya-s according to kitakappakarana.
(A) Tekalika
(B) Tassiladi
(C) Kicca
(D)  Yvadi
(E) Tadi
Choose the correct answer from the options given below :
(1) (A), (B), (©), (D) and (E)
(@) (A), (B). (D), (E) and (C)
() A (D) (E) (C) and (B)
4) (A), (B), (C), (E) and (D)

Options :

878270106761. 1



878270106762. 2
878270106763. 3

878270106764. 4

Question Number : 131 Question Id : 87827027071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ToRTeR IR0l & STHR T=ad] hl shHTH Hafeod i
(A) dehIferh
(B) wHIeNg
(C) To=a
(D) e
(B) drfg
= feu 7o fawedi § 9 W 3T H F=H Hifow :
(1) (A), (B). (C), (D), (E)
2)  (A) (B), (D), (E), (O
@) (A) (D), (E) (C), (B)
@) (A), (B). (C), (E), (D)
Options :
878270106761. 1
878270106762. 2
878270106763. 3

878270106764. 4

Question Number : 132 Question Id : 87827027072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the chapters of the Mahivagga of the Vinaya-Pitaka in order.
(A) Cammakkhandhaka

(B) Pavarapakkhandhaka

(C) Vassupanayikakkhandhaka

(D) Uposathakkhandhaka

(E) Mahakkhandhaka

Choose the correct answer from the options given below :
1) (E), D). ©), (B) (A)

) (A), B), ©) D) (E)

(3)  (B), (©, (A), (B), (D)

@) (D), (A), (B), (©), (E)

Options:

878270106765. 1

878270106766. 2

878270106767. 3

878270106768. 4

Question Number : 132 Question Id : 87827027072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

foa-fres & we@m & 1= &1 376 9 | Haferd #i
(A) THFRTYF

(B) UIRUIREYH

(C) SO RS

(D) SUHYFEYF

(E) WRIHg4®

= fou mu fawedi § 9 WEr 39 & =TI Hife

1) (E), (D). (Q) (B {A

2)  (A), (B). (©), (D) (E)
() (B), (©), (&) (E) D)
@) (D) (A), (B) (©), (E)

Options :

878270106765. 1



878270106766. 2
878270106767. 3

878270106768. 4

Question Number : 133 Question Id : 87827027073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  The verbal root "kar” belongs to kiyadigana.

Statement (II) : “Karassa sapaccayassa kaho"-By this rule the further form in the third person
singular number of the root kara’ will be kahati.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement Il are incorrect

(3) Statement I is correct but Statement Il is incorrect

(4)  Statement I is incorrect but Statement II is correct
Options :

878270106769. 1
878270106770. 2
878270106771. 3
878270106772. 4

Question Number : 133 Question Id : 87827027073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



LEEHE RIS

T (1) 'F o Frem & gt 7

TR (1) : ' T FR A Y 4 1 ST e W T Thae & Fwed |
TR B & el 5, A feu T ol § & we I o wifa

(1) oM 3R FHem 11 <F 9 2

(2) HOR &R F 1 S T B

(3) 1T &, TR HUA I A ¢

)

(1) R A €, ol FOR I TA §

Options:

878270106769. 1
878270106770. 2
878270106771.3

878270106772. 4

Question Number : 134 Question Id : 87827027074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following texts in the chronological order in accordance with their composition :
(A) Upisakajanalamkara

(B) Telakatihagitha

(C) Jinacarita

(D) Pajjamadhu

(E) Buddhaghosuppatti

Choose the correct answer from the options given below :
(1) () () ©) D) @)

@ ) ® @A) ©) D)

() (A) (©) ©) E) (B)

(@) (®) (A) (©) D), )

Options :
878270106773. 1

878270106774. 2



878270106775. 3
878270106776. 4

Question Number : 134 Question Id : 87827027074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafad u=if #1 ST = F FOTEn T
(A) SUHHSHTARR

(B)  ticisharemen

(C) fo=Ra

(D) TeeiHY

B) FEIEA

= fau mu fowedi § 9 WE S 1 =TI Hife
(1) (E) (B), (©), (D), (A)

2) (D), (B), (A) (©). (D)

(3) (A) (©), (D), (E), (B)

4) (B), (A), (©), (D), (E)

Options :

878270106773. 1
878270106774. 2
878270106775. 3

878270106776. 4

Question Number : 135 Question Id : 87827027075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following Nivaranas in correct order.

(A) Uddhaccakukkucca

(B) Vyapiada

(C) Thinamiddha

(D) Kamacchanda

(E) Vicikiccha

Choose the correct answer from the options given below :
1) (&) €. D) (B) (‘C

2)  (©) (A), (E), (D), (B)
() (D) (B), (O, (f%} (E)
)

4) (B), (O). (A), (E), (D)
Options:
878270106777. 1
878270106778. 2
878270106779. 3

878270106780. 4

Question Number : 135 Question Id : 87827027075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fefafad e #1 9@ &0 9 fod .
(A) ST
(B) =S
(C) s
(D) =H=0<
(E) fafufew=s
= fou mu fawmedi § 9 WEr 39 & =TI Hife
(1) (A), (E), (D), (B) (C}

2)  (©) (A) (B), (D), (B)
() (D) B), (©), (A) (E}
4) (B), (©), (A), (E), (

Options :

878270106777. 1



878270106778. 2
878270106779. 3

878270106780. 4

Question Number : 136 Question Id : 87827027076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : “Ko namo ayar, bhante Dhammapariyayo'ti ?
"Tasmitiha tvam Ananda, imarh DhammapariyayamAtthajalarm t pi nam Dharehi,
‘Dhammajilar, ti pi narh dharehi, Brahmjalar, ti pi nam dharehi, ditthijalas, ti pi
nari dharehi, ‘anuttaro savigamavijayo’ fi pi nam dharehi” ti.

Statement (II) : The above sermon was preached by Buddha while giving answer to a question
put forth by Ananda.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement 1I are false

(3) Statement I1s true but Statement II 1s false

(4)  Statement I is false but Statement II is true
Options :

878270106781. 1
878270106782. 2
878270106783. 3

878270106784. 4

Question Number : 136 Question Id : 87827027076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T F fum e

T (1) : R o, o e R o iR @ s, 2 s e fa f A i,
sl i i i, el o A i, el A R, e e
o fu 5 s fal

T (1I) : I IRV GG 1 AT F 5N TP T IA & TR A fem o)

TR B & el 5, A feu T ol § & we I o wifa

(1) oM 3R FHem 11 <F 9 2

(2) e SR H I S A9 &

(3) 1T &, TR HUA I A ¢

)

(1) R A €, ol FOR I TA §

Options:

878270106781. 1
878270106782. 2
878270106783. 3
878270106784. 4

Question Number : 137 Question Id : 87827027077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : ‘pya’, ‘tta” and ‘t’- they are bhavavici paccaya.

Statement (II) : Nepakkarn, Canadattarh and Muduti - these three are the examples of bhavavici
paccaya.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1

) Both Statement I and Statement Il are correct
(2) Both Statement I and Statement II are incorrect
S

)

3
(4

Statement 1 is correct but Statement 1l is incorrect
Statement | 15 incorrect but Statement 11 1s correct

Options :
878270106785. 1

878270106786. 2



878270106787. 3

878270106788. 4

Question Number : 137 Question Id : 87827027077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

= 1 e feu o € -

HA () : ‘T @R — ¥ vearE! afsd = €

T (1) : AU, T SR gEm — 3 wearE! T=g F SeRv €
ST ¢ F e §, A2 fou 7o fawedi § 4 w@ S99 S

(1) I R HAA 11 SH T €

(2) THAFI R FHIF 1 A 26 B

(3) I TA T, AT HmIA I 37 T
)

(4) HATI A €, ol HUT 1 T ¥

Options :

878270106785. 1
878270106786. 2
878270106787.3

878270106788. 4

Question Number : 138 Question Id : 87827027078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (I) : Ariyipanna magga ca maggaphalani ca, asankhati dhatu, ime dhamma
anupadinna-anupadiniya.

Statement (I) : Pancakkhandha ripakkhandho  vedanikkhandho  saifikkhandho
sankharakkhandho vifanakkhandho, ime dhamma sappaccaya.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 15 false
(4) Statement I is false but Statement II is true

Options :

878270106789. 1
878270106790. 2
878270106791. 3

878270106792. 4

Question Number : 138 Question Id : 87827027078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T d FoA feum g

FA (1) : ST 70 = AOFA = G U7, T S S - ST

T (1) : TouEH FIHEH JETRGH] Foolaa 4l g fosama4l, 34 4 qorad||
TR FUA % oA §, A9 fou T forwedt § | Wl v v i

(1) AR FHM N EH 59 &

2)  HAR AR o 11 S e §

3) HUN 1T £, T HA 1 9 §

)

(4) HUT1 A B, A RN TA

Options :
878270106789. 1
878270106790. 2

878270106791. 3



878270106792. 4

Question Number : 139 Question Id : 87827027079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : Anantakdyo dyasmantam nagasenar etadavoca : “yam panetarh brusi nigasenoti,
katamo etha, nigaseno'ti"?

Statement (II) : Nagaseno evamiha : “yo so abbhantare vito jivo pavisati ca nikkhamati ca, so
‘nagaseno’tl maifami'ti".

In the light of the above statements, choose the most appropriate answer from the options given
below :

Statement [ is false but Statement 11 is true

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3)  Statement I is true but Statement I 1s false
)

(4
Options :
878270106793. 1
878270106794. 2
878270106795. 3

878270106796. 4

Question Number : 139 Question Id : 87827027079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



T wmAfume:

T (1) : SR AP A T < | O S A T, R e, A 2

T (1) ; TTEA Tame ;' T s7eaa o s vferfa 9 Fraawta =, @ T fa wead fa)”
TRIE o & A 5, A for T fowed § 3 Wl I w wf

(1) ISR R T T3 &

(2) A S H I A A &

() FUTITA B, T FU 11 6 ©

(1) HAA A &, AR HIA I TA §

Options:

878270106793. 1
878270106794. 2
878270106795. 3

878270106796. 4

Question Number : 140 Question Id : 87827027080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement (I) : Vitakka is one of the pakinnaka cetasikas, which does not present in the state
higher than first jhina,

Statement (II) : In kimavacara citta, too, it is associtated with eleven types of consiousness.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1
2
3)  Statement I s correct but Statement Il is incorrect
0

) Both Statement I and Statement II are correct
) Both Statement I and Statement II are incorrect

Statement I is incorrect but Statement Il is correct
Options :

878270106797. 1

878270106798. 2

878270106799. 3

878270106800. 4



Question Number : 140 Question Id : 87827027080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T FFfeumE,

FF (1) : oo T TR 1 W00 =afae €, S JU0 S & SR F1 e § uiem 7 e
T (1) : FEe o  off 7 11 il o w19 S a0 2

IR o F el #, A fou 70 fosedt # @ W SR = Fifaw

(1) HUA 3 HeR IS T &

(2) HIA SN HeA 11 SHT o &
(3) FUTTA B, T HU 11 6 §
(4) FAA A &, ol HA I TA §
Options :

878270106797. 1

878270106798. 2
878270106799. 3

878270106800. 4

Sub-Section Number : 2
Sub-Section Id : 8782701171
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827027081 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Tana kho pana samayena cattiro mallapimokkhi sisamnhati ahatini vatthani nivatthé-
“mayar bhagavato citakam dlimpessima “ti na sakkonti dlimpeturh atha kho kosindraki malld
iyasmantarh anuruddharm etadavocur - “ko nu kho, bhante anuruddha, hetu ko paccayo, yenime
cattiro mallapimokkhi sisamnhati ahatini vatthini nivattha - ‘mayam bhagvato citakam
dlimpessima’ ti na sakkonti alimpetunti ? “ Afifiatha kho, vasetthi devatinar adhippayo” ti. “Katharh
pana, bhante, devitanam adhippiyo” ti ? Devatinam kho, vasstttha, adhippayo - "ayar ayasm
mahiakassapo paviya kasiniram addhinamaggappatippanno mahata bhikkhusanghena saddhim
paficamattehi bhikkusatehi, Na tiva bhagavato citako pajjalissati, yaviyasmi mahikassapo
bhagavato pade sirasi vandissati’ ti. “yathi, bhante, devatinarm adhippayo, tathi hoti” .

Sub questions

Question Number : 141 Question Id : 87827027082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The passage belongs to :
(1) Mahakassapatheravatthu of Mahiparinibbana-sutta

(2) Mahakassapa-sutta
(3) Vaseitha-sutta
(4) Dipavamsa

Options :

878270106801. 1
878270106802. 2
878270106803. 3

878270106804. 4

Question Number : 142 Question Id : 87827027083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The meaning of word ahatani is :
(1) New

(2) Undertaken
(3) Old

(4) Non-killing



Options :

878270106805. 1
878270106806. 2
878270106807. 3
878270106808. 4

Question Number : 143 Question Id : 87827027084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
The word Nivattha here 1s :
(1)  Without cloth
(2) Nominative singular of the feminine word nivattha
(3) An example of Attanopada
(4) Past Participle of nivaseti
Options :
878270106809. 1
878270106810. 2
878270106811. 3

878270106812. 4

Question Number : 144 Question Id : 87827027085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The meaning of the word ‘Alimpeti’ is :

(1) contemplate on an object

(2) to make calm

(3) to set fire

(4) to take bath from the top of the head

Options :
878270106813. 1

878270106814. 2



878270106815. 3

878270106816. 4

Question Number : 145 Question Id : 87827027086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

‘Hott #' here hoti indicates :
(1) Paficami

2) Sattami

(3) Ajjatani

(4) Hiyattani
Options:

878270106817. 1
878270106818. 2
878270106819. 3

878270106820. 4

Question Id : 87827027081 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

1 1 O HA =R Feel IR HE R et s e - 7 e feen anferee
i 3 W@l afeeg g @1 I Hoo AEe A76S T - | H @, W AT6s, 7
T, A S e S et deent fee - v e fae: enferrer’ f 7 wEifa
sfeigf< 7 sreaen o, oy, <aan s f ) e W, 9, Saan st fa? e g,
g, AT - 9 A Ve Ter R AgATe Tea faggen wig Tt
fiergafe | 7 T8 e fofeeh! Tiforeata, e Tee wad e e 7 e Tl ‘e
o, T e, 7o @ |

Sub questions



Question Number : 141 Question Id : 87827027082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T T T ©
(1) HeERErYT & qemaaaaEe] 4

(2) HERREY g9 H
() IR H
4) dwEEd
Options :

878270106801. 1
878270106802. 2
878270106803. 3

878270106804. 4

Question Number : 142 Question Id : 87827027083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

' arart’ = 219 ©

(1) =1

(2) wew feman gam

(3) TU

4) fEa
Options :

878270106805. 1
878270106806. 2
878270106807. 3

878270106808. 4

Question Number : 143 Question Id : 87827027084 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fae o8 © ;
(1) =
(2)  seediar=t ¥sg THeedn sl AT Tha=r
(3) ATHYE T Uk ISR
4) framfa 1 qasfas Fe
Options :

8782701068009. 1
878270106810. 2
878270106811. 3

878270106812. 4

Question Number : 144 Question Id : 87827027085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

' aiferufa’ o o1 ®

(1) Ser=H I M

(2) I T

(3) STelMI

(4) T ETEm
Options :

878270106813. 1
878270106814. 2
878270106815. 3
878270106816. 4

Question Number : 145 Question Id : 87827027086 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) "=l
(2) sl
(3) Sl
@) EEHl
Options :

878270106817. 1
878270106818. 2
878270106819. 3
878270106820. 4

Sub-Section Number : 3
Sub-Section Id : 8782701172
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827027087 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (146 to 150)
Question Label : Comprehension

Atha kho milindo réji makkhali gosalam etadavoca “Atthi, bhante Gosila kusalikusalini
Kammini, atthi sukatadukkatinam kammanam phalam vipako” ti ? “Natthi, Maharaja,
kusalikusalini kammani, natthi sukatadukkatanam kamminar phalam vipiko, ye te, mahiraja
idha loke khattiyd te paralokar gantvapi puna khattiyava bhavissanti, ye te brahmana vessa sudda
candali pukkus, te paralokarh gantvipi puna brahmani vessa suddi candili pukkusiva bhavissanti.
Kirm kusalikusalehi kammehi” ti ? “Yadi, bhante gosila, idha loke khattiya brahmané vessi sudda
candala pukkusa, te paralokar gantvipi puna khattiya brahmana vessi sudda candila pukkusiva
bhavissanti, natthi kusalakusalehi kammehi karaniyam. Tana hi, bhante Gosila, ye te idha loke
hatthacchinn, te paralokam gantvipi puna hatthacchinniva bhavissanti. Ye pidacchinni, te
pidacchinniva bhavissanti. Ye hatthapadacchinni, te hatthapadacchinniva bhavissanti. Ye
kannacchinn, te kannacchinniva bhavissanti, Ye nisacchinna, te nasacchinniva bhavissanti. Ye
kannanasacching, te kanninasacchinniva bhavissanti’ ti. Evam vutte Gosilo tuphi ahosi.



Sub questions

Question Number : 146 Question Id : 87827027088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

How does Gosila refute the idea of good and bad karma in the paragraph ?

(1) By providing example of individuals from different castes in the paraloka.
(2) By explaining the principal of ethical conduct.

(3) By preseting a theory of reincarnation.

(4) By suggesting that actions have no consequences.
Options :

878270106821. 1

878270106822. 2

878270106823. 3

878270106824. 4

Question Number : 147 Question Id : 87827027089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

In the passage what King Milinda is inquiring from Makkhali Gosila.

(1) The nature of good and bad deeds

(2) The importance of ethical conduct

(3) The consequences of action in this world and the other world
(4) The history of kingdom

Options:

878270106825. 1
878270106826. 2
878270106827. 3

878270106828. 4

Question Number : 148 Question Id : 87827027090 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
How does Gosila react to Milinda’s question in the passage ?
(1) He agrees with Milinda’'s perspective
(2) He challenges Milinda's viewpoint
(3) He remains silent and does not respond
(4) He changes the subject of the conversation
Options:
878270106829. 1
878270106830. 2
878270106831. 3

878270106832. 4

Question Number : 149 Question Id : 87827027091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the sentence “atthi sukatadukatinarh kamninarh phalam vipiko”, what is gramatical function
of ‘vipiko'?

(1) Subject
(2) Verb

(3) Object
4) Adjective

Options :

878270106833. 1
878270106834. 2
878270106835. 3
878270106836. 4

Question Number : 150 Question Id : 87827027092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

What is the gender and number of the word “kammani” in the phrase ‘kusalikusalini kammani' ?
(I) Masculine singular

(2) Masculine plural
(3) Feminine singular
(4) Feminine plural
Options:
878270106837. 1
878270106838. 2
878270106839. 3

878270106840. 4
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Question Numbers : (146 to 150)
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878270106821. 1
878270106822. 2
878270106823. 3

878270106824. 4

Question Number : 147 Question Id : 87827027089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2 350 H T fufer meefa Taa 3 #n @ @ E 2
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Options :

878270106825. 1

878270106826. 2

878270106827 3

878270106828. 4

Question Number : 148 Question Id : 87827027090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270106829. 1
878270106830. 2
878270106831. 3

878270106832. 4

Question Number : 149 Question Id : 87827027091 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270106833. 1
878270106834. 2
878270106835. 3

878270106836. 4

Question Number : 150 Question Id : 87827027092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘R wE A § i v 1 fag o) g=m n E?

(1) Yferg ThaeA
2) Yferg sga=A
(3) sfcferg The=A

(4) FAYEFAF Fga=
Options:
878270106837. 1
878270106838. 2
878270106839. 3
878270106840. 4



